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Syllabus of Semester System For The Trade of 

FITTER 
UNDER CRAFTSMAN TRAINING SCHEME (CTS) 

By Government of India Ministry of Labour & Employment (DGE&T) 

First Semester– 

� Trade Theory :– Importance of safety and general 

precautions observed in the industry/shop floor. All 

necessary guidance to be provided to the new comers to 

become familiar with the working of Industrial Training 

Institute system including stores procedures. Soft Skills : 

its importance and Job area after completion of training. 

Introduction of First aid. Operation of electrical mains. 

Introduction of PPEs. Introduction to 5S concept & its 

application. Response to emergencies e.g. : power 

failure, fire, and system failure.  

Linear measurements – its units, dividers, calipers, 

hermaphrodite, centre punch, dot punch, their description 

and uses of different types of hammers. Description, use 

and care of 'V' Blocks, marking off table.  

Bench vice construction, types, uses, care & 

maintenance, vice clamps, hacksaw frames and blades, 

specification, description, types and their uses, method of 

using hacksaws.  

Files– specifications, description, materials, grades, cuts, 

file elements, uses. Measuring standards (English, Metric 

Units), angular measurements, subdivisions, try square, 

ordinary depth gauge, protractor- description, uses and 

cares. 

Marking off and layout tools, dividers, scribing block, 

odd leg calipers, punches-description, classification, 

material, care & maintenance.  

Calipers– types, material, constructional details, uses, 

care & maintenance of cold chisels- materials, types, 

cutting angles. 

Marking media, marking blue, Prussian blue, red lead, 

chalk and their special application, description. Use, care 

and maintenance of scribing block.  

Surface plate and auxiliary marking equipment, 'V' 

block, angle plates, parallel block, description, types and 

uses, workshop surface plate - their uses, accuracy, care 

and maintenance. Types of files - convexing, taper, 

needle, care and maintenance of files, various types of 

keys, allowable clearances & tapers, types, uses of key 

pullers. 

Physical properties of engineering metal : colour, weight, 

structure, and conductivity, magnetic, fusibility, specific 

gravity. Mechanical properties : ductility, malleability 

hardness, brittleness, toughness, tenacity, and elasticity.  

Power Saw, band saw, Circular saw machines used for 

metal sections cutting. 

Micrometer – outside and inside– principle, 

constructional features, parts graduation, leading, use and 

care. Micrometer depth gauge, parts, graduation, leading, 

use and care. Digital micrometer. 

Vernier calipers, principle, construction, graduations, 

reading, use and care. Vernier bevel protractor, 

construction, graduations, reading, use and care, dial 

Verrnier Caliper, Digital vernier caliper. 

� Drilling processes :  – common type (bench type, 

pillar type, radial type), gang and multiple drilling 

machine. Determination of tap drill size. 

Revision & Test  

Safety precautions to be observed in a smith shop, forge- 

necessity, description uses, fuel used for heating, bellows 

blowers, description and uses. 

Anvil and swage blocks, Description and uses. Forging 

tools– hammers – band and sledge, description and uses. 

Chisels, set hammers, flatters, hardier, fuller swage & 

uses. Measuring and checking tools – steel rule, brass 

rule, calipers, try square, description and uses. General 

idea about the main operations performed in a forging 

shop such as upsetting drawing, twisting, bending, 

punching, drilling, and welding.  

Metallurgical and metal working processes such as Heat 

treatment, various heat treatment methods - normalizing, 

annealing, hardening, case hardening and tempering 

Power hammer – construction, features, method of 

operating and uses. 

safety precautions to be observed in a sheet metal 

workshop, sheet and sizes, Commercial sizes and various 

types  of metal sheets, coated sheets and their uses as Per 

BIS specifications. 

Marking and measuring tools, wing compass, Prick 

punch, tin man's square tools, snips, types and uses. Tin 

man's hammers and mallets type- sheets metal tools, 

Soldering iron, types, specifications, uses. Trammel – 

description, parts, uses. Hand grooves– specifications 

and uses. 

Stakes – bench types, parts, their uses. Various types of 

metal joints, their selection and application, tolerance for 

various joints, their selection & application. wired edges- 
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� Solders – composition of various types of solders, 

and their heating media of soldering iron, fluxes types, 

selection and application- joints. 

� Rivets – Tin man's rivets types, sizes, and selection 

for various works. 

Riveting tools, dolly snaps description and uses. Method 

of riveting, shearing machine – description, parts and 

uses.  

Second Semester– 

� Safety – importance of safety and general precautions 

observed in a welding shop. Precautions in electric and 

gas welding. (Before, during, after) Introduction to safety 

equipment and their uses. Machines and accessories, 

welding transformer, welding generators. 

� Hand tools : – Hammers, welding description types 

and uses, description, principle, method of operating, 

carbon dioxide welding. H.P. welding equipment : 

description, principle, method of operating L.P. welding 

equipment : description, principle, method of operating. 

Types of Joints – Butt and fillet as per BIS SP ; 46–1988 

specifications. Gases and gas cylinder description, kinds, 

main difference and uses.  

Setting up parameters for ARC welding machines– 

selection of Welding electrodes. 

Oxygen acetylene cutting – machine description, parts, 

uses, method of handling, cutting torch– description, 

parts, function and uses. 

� Drill– material, types, (Taper shank, straight shank) 

parts and sizes. Drill angle–cutting angle for different 

materials, cutting speed feed. R.P.M. for different 

materials. Drill holding devices– material,  construction 

and their uses. 

Counter sink, counter bore and spot facing – tools and 

nomenclature, Reamer – material, types (Hand and 

machine reamer), kinds, parts and their uses, determining 

hole size (or reaming), Reaming procedure. Screw 

threads : terminology, parts, types and their uses. Screw 

pitch gauge : material parts and uses. Taps British 

standard (B.S.W., B.S.F., B.A. & B.S.P.) and metric/BIS 

(course and fine) material, parts (shank body, flute, 

cutting edge). Tap wrench : material, parts, types (solid 

& adjustable types) and their uses removal of broken tap, 

studs (tap stud extractor.) 

� Dies : – British standard, metric and BIS standard, 

material, parts, types, Method of using dies. Die stock : 

material, parts and uses. 

� Drill troubles : – causes and remedy. Equality of 

lips, correct clearance, dead centre, length of lips. Drill 

kinds : Fraction, metric, letters and numbers, grinding of 

drill.  

� Grinding wheel : –Abrasive, grade structures, bond, 

specification, use, mounting and dressing. Bench grinder 

parts and use–radius gauge, fillet gauge, material, 

construction, parts function and metric, different 

dimensions, convex and concave uses care and 

maintenance.  

Radius gauge, feeler gauge, hole gauge, and their uses. 

� Interchangeability : – Necessity in Engg, field 

definition, BIS. Definition, Types of limit, terminology 

of limits and fits–basic size, actual size, deviation, high 

and low limit, zero line, tolerance zone Different 

standard systems of fits and limits. British standard 

system, BIS system 

� Method of expressing tolerance as per BIS Fits : – 

Definition, types description of each with sketch. Vernier 

height gauge : material construction, parts, graduations 

(English & Metric) uses, care and maintenance, Pig Iron 

: manufacturing process (by using) Blast furnace types, 

of pig Iron, properties and uses.  

� Cast Iron : – manufacturing process by using (cupola 

furnace) types, properties and uses. 

� Wrought ion– manufacturing process (Fuddling and 

Astor process) properties and uses. 

� Steel :– manufacturing process plain carbon steel, 

types, properties and uses. 

Non–ferrous metals (copper, aluminum, tin, lead, zinc) 

properties and uses. 

Counter sink, counter bore and spot facing – tools and 

nomenclature, Reamer – material, types (Hand and 

machine reamer), kinds, parts and their uses, determining 

hole size (or reaming), Reaming procedure.  

� Simple scraper – cir., flat, half round, triangular and 

hook scraper and their uses. blue matching of scraped 

surfaces (flat and curved bearing surfaces) 

Vernier micrometer, material, parts, graduation, use, care 

and their uses. Blue matching of scraped surfaces (flat 

and curved bearing surfaces) 

Vernier micrometer, material, parts, graduation, uses, 

care and maintenance. Calibration of measuring 

instruments.  

Introduction to mechanical fasteners and its uses. 

Screw thread micrometer : Construction, graduation and 

use.  

Dial test indicator, construction, parts, material, 

graduation, Method of use,. Care and maintenance. 

Digital dial indicator.  

� Comparators – measurement of quality in the 

cylinder bores. 

� Preventive maintenance – objective and function of 

P.M. section inspection. Visual and detailed, lubrication
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survey, system of symbol and colour coding. Revision, 

simple estimation of materials, use of handbooks and 

reference table. 

Possible causes for assembly failures and remedies. 

Assembling techniques such as aligning, bending, fixing, 

mechanical jointing, threaded jointing, sealing, and 

torquing. Dowel pins; material, construction, types, 

accuracy and uses. 

Third Semester– 

Safely precautions to be observed while working on a 

lathe, Lathe specifications, and constructional features. 

Lathe main parts descriptions – bed, head stock, carriage, 

tail stock, feeding and thread cutting mechanisms. 

Holding of job between centers, works with catch plate, 

dog, simple description of a facing and roughing tools 

and their applications. 

� Lathe cutting tools– Brief study of the nomenclature 

of Lathe cutting tools and necessity of correct grinding, 

solid and tipped, throw away type tools, cutting speed 

and feed and comparison for H.S.S, carbide tools. Use of 

coolants and lubricants.  

Chucks and chucking the independent four–jaw chuck. 

Reversible features of jaws, the back plate, Method of 

clearing the thread of the chuck– mounting and 

dismounting, chucks, chucking true, face plate, drilling– 

method of holding drills in the tail stock, Boring tools 

and enlargement of holes.  

Chucks and chucking the independent four- jaw chuck. 

Reversible features of jaws, the back plate, Method of 

clearing the thread of the chuck – mounting and 

dismounting, chucks, chucking true, face plate, drilling – 

method of holding drills in the tail stock, Boring tools 

and enlargement of holes.  

� General turning operations– parallel or straight, 

turning. Stepped turning, grooving, and shape of tools for 

the above operations. Appropriate method holding the 

tool on tool post or tool rest, Knurling tools description, 

grade, uses, speed and feed calculation.  

� Taper– definition, use and method of expressing 

tapers. Standard tappers– taper, calculations morse taper. 

� Screw thread definition – uses and application. 

Terminology of screw threads. square, worm, buttress, 

acme (non standard-screw threads), Principle of cutting 

screw thread in centre lathe – principle of chasing the 

screw thread – use of centre gauge, setting tool for 

cutting internal and external threads, use of screw pitch 

gauge for checking the screw thread.  

� Screws : – material, different types (inch & metric), 

uses 

Testing scraped surfaces : ordinary surfaces without a 

master plate.  

� Special files : – types (pillar, Dread naught, Barrow, 

warding) description. 

� System of drill size Fractional size : – number, 

letter and metric. Templates and gauges– Introduction, 

necessity, types. Limit gauge: Ring gauge, snap gauge, 

plug gauge, description and uses. 

Description and uses of gauge – types (feeler, screw, 

pitch, radius, wire gauge) 

� Slip gauge : – Necessity of using, classification & 

accuracy, set of blocks (English and Metric). Details of 

slip gauge. Metric sets 46 : 103 : 112, Wringing and 

building up of slip gauge and care and maintenance.  

Application  of slip gauges for measuring, Sine bar–

Principle, application & specification. Procedure to 

check adherence to specification and quality standards. 

Locking device : Nuts – types (lock nut castle nut, slotted 

nuts, swam nut, grooved nut) Description and use.  

� Lapping : – Application of lapping, material for 

lapping tools, lapping abrasives, charging of lapping 

tool. Surface finish importance, equipment for testing – 

terms relation to surface finish. Equipment for tasting 

surfaces quality – dimensional tolerances of surface 

finish. 

� Honing : – Application of honing, material for 

honing, tools shapes, grades, honing abrasives. Frosting 

– its aim and the methods of performance.

� Bearing – Introduction, classification (Journal and 

Thrust), Description of each, ball bearing : Single row, 

double row, description of each, and advantages of 

double row. 

� Roller and needle bearing : Types of roller bearing. 

Description & use of each Industrial visit. 

� Synthetic materials for bearing : – the plastic 

laminate materials, their properties and uses in bearings 

such as phenolic, teflon polyamide (nylon).  

Method of fitting ball and roller bearings 

� Bearing metals – types, composition and uses, 

lubricants purpose of using different types, description 

and uses of each type. 

Hardening and tempering, purpose of each method, 

tempering colour chart. 

Annealing and normalising, purpose of each method.  
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Fourth Semester– 

Case hardening and carburising and its methods, process 

of carburising (solid, liquid and gas). 

� Solder and soldering : – Introduction – types of 

solder and flux. Method of soldering, Hard solder – 

Introduction, types and method of brazing.  

Production of gauges, templates and jigs. The objective 

of importance ofr preparing interchangeable components.  

� Drilling jig– constructional features, types and uses. 

Fixtures – Constructional features, types and uses.  

� Pipes and pipe fitting – commonly used pipes. Pipe 

schedule and standard sizes. Pipe bending methods. Use 

of bending fixture, pipe threads – Std. Pipe threads Die 

and tap, pipe vices. 

� Standard pipefitting : – Methods of fitting or 

replacing the above fitting, repairs and erection on 

rainwater drainage pipes and house hold taps and pipe 

work. Use of tools such as pipe cutters, pipe wrenches, 

pipe dies, and tap, pipe bending machine etc.  

Fire precautions– causes and types of fires, precautions 

against out break of fire, Fire Extinguishers – types and 

use.  

Working material with finished surface of aluminum, 

duralumin, stainless steel,, the importance of keeping the 

work free from rust and corrosion. The various coating 

used to protect metals, protection coat by heat and 

electrical deposit treatments. 

Treatments and provide a pleasing finish as chromium 

silver plating and nickel plating, and galvanising. 

Aluminium and its alloys. Uses, advantages and 

disadvantages, weight and strength as compared with 

steel. 

Tapers on keys and cotters permissible by various 

standards. Discuss non–ferrous metals as brass, phosphor 

bronze, gunmetal, copper, aluminium etc. Their 

composition and purposes where and why used, 

advantages for specific purposes, surface wearing 

properties of bronze and brass. 

Power transmission elements. The object of belts; their 

sizes and specifications, materials of which the belts are 

made, selection of the type of belts with the 

consideration of weather, load and tension methods of 

joining leather belts.  

Vee belts and their advantages and disadvantages, Use of 

commercial belts, dressing and resin creep and slipping, 

calculation. 

Power transmissions, coupling types–flange coupling,– 

Hooks coupling – universal coupling and their different 

uses. 

Pulleys– types– solid, split and 'V' belt pulleys, standard 

calculation for determining size crowning of faces–loose 

and fast pulleys–jockey pulley. Types of drives–open 

and cross belt drives. The geometrical explanation of the 

belt drivers at an angle. 

� Power transmission – by gears, most common form 

spur gear, set names of some essential parts of the set– 

the pitch circles, Diametral pitch, velocity ratio of a gear 

set, Helical gear, herring bone gears, bevel gearing, 

spiral bevel gearing, hypoid gearing, pinion and rack, 

worm gearing, velocity ration of worm gearing. Repair to 

gear teeth by building up and dovetail method. 

Method or fixing geared wheels for various purpose 

drives, General cause of the wear and tear of the toothed 

wheels and their remedies, method of fitting spiral gears, 

helical gears, bevel gears, worm and worm wheels in 

relation to required drive. Care and maintenance of 

gears. 

� Lubrication and lubricants – Method of lubrication. 

A good lubricant, viscosity of the lubricant, Main 

property of lubricant. How a film of oil is formed in 

journal. Bearings, method of lubrication– gravity feed, 

force (pressure) feed, splash lubrication. Cutting 

lubricants and coolants : Soluble off soaps, suds– 

paraffin, soda water, common lubricating oils and their 

commercial names, selection of lubricants. Chains wire 

ropes and clutches for power transmission. Their types 

and brief description. Discuss the various rivets shape 

and form of heads, riveting tools for drawing up the 

importance of correct head size. the spacing of rivets. 

Flash riveting, use of correct tools, compare hot and cold 

riveting. 

Importance of Technical English terms used in industry – 

(in simple definition only) Technical forms, process 

charts, activity logs, in required formats of industry, 

estimation, cycle time, productivity reports, job cards. 

Installation, maintenance and overhaul of machinery and 

engineering equipment and Hydraulics & pneumatic 

symbols & exercise. Hydraulics pneumatic circuits. 

Clutch : Type positive clutch (straight tooth type, angular 

tooth type). 

� Washers – Types and calculation of washer sizes. 

The making of joints and fitting packing. The uses of 

lifting appliances, extractor presses and their use. 

Practical method of obtaining mechanical advantage. The 

slings and handling of heavy machinery, special 

precautions in the removal and replacement of heavy 

parts. 

� Foundation bolt : – types (rag, Lewis cotter bolt) 

description of each erection tools, pulley block, crow bar, 

spirit level, Plumb bob, pipe 2 × 4', wire rope, manila 

rope, wooden block. 
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RRB ALP Tech. (Mechanic Diesel) 08.02.2019 Shift-I 7 YCT 

RRB Assistant Loco Pilot Technicians 2018 

Trade Mechanic Diesel 
Solved Paper 

Exam Date: 08.02.2019]  [Timing: 10:00 to 12:30 PM 

PART-A : NON-TECHNICAL 
1.  A_____is defined as something that can directly 

cause cancer. This can be a chemical substance, 
a virus, or radiation. 

  ______ Ssmeer Jemleg nw pees meerOes keQâmej keâe keâejCe yeve 
mekeâleer nw~ Ùen Skeâ jemeeÙeefvekeâ heoeLe&, Skeâ JeeÙejme Ùee 
efJeefkeâjCe nes mekeâlee nw~  

 (a) Carcinogen/ keâeefme&veespeve 
  (b) Cardiogen/ keâeef[&Ùeespesve   
 (c) Detritus /[eFefš^šme  
 (d) Cankerous /keQâkesâjme  
Ans. (a) : keâeefme&veespeve (Carcinogen) Ssmeer Jemleg nw pees meerOes 
keQâmej keâe keâejCe yeve mekeâleer nw~ Ùen Skeâ jemeeÙeefvekeâ heoeLe&, Skeâ 
JeeÙejme Ùee efJeefkeâjCe nes mekeâlee nQ~ pewmes Smyesmšme, ieecee efkeâjCeW leLee 
Skeäueeše@efkeämeve yeer 1, pees Yeb[eefjle Deveepe SJeb cesJee Deeefo hej Gieves 
Jeeues keâJekeâ Éeje efveefce&le neslee nw~   
2.  Who among the following built the Alai 

Darwaza in 1311 in Delhi? 
  FveceW mes efkeâmeves 1311 ceW efouueer ceW DeueeF& ojJeepee keâe 

efvecee&Ce keâjeÙee? 
 (a) Ala-ud-din-Khilji /DeuueeGöerve efKeuepeer  
 (b) Muhammad bin Tughlaq /cegncceo-efyeve-legueiekeâ   
 (c) Ittutmish /FulegleefceMe  
 (d) Firoz Shah Tughlaq /efHeâjespeMeeye legieuekeâ  
Ans. (a) : DeueeF& ojJeepee efouueer ceW efmLele nw~ Fmekeâe efvecee&Ce 
1311 F&] ceW DeueeGöerve efKeuepeer Éeje efkeâÙee ieÙee~ DeueeF& ojJeepee 
ueeue yeuegDee helLej keâe GheÙeesie keâjkesâ yeveeÙee ieÙee nw Deewj Fmes meHesâo 
mebiecejcej mes mepeeÙee ieÙee nw~   
3.  A train of mass 50,000 kg accelerates from 5 m/s 

to 25 m/s. Find the change in its kinetic energy. 

  50,000 efkeâuees«eece õJÙeceeve keâer Skeâ š^sve 5 
ceeršj/meskebâ[ mes yeÌ{keâj 25 ceeršj/meskebâ[ keâer Ûeeue 
Øeehle keâj uesleer nw~ Fmekeâer ieeflepe Tpee& ceW efkeâlevee 
heefjJele&ve ngDee~ 

 (a) 17.5 MJ (b) 12.5 MJ  
 (c) 15 MJ  (d) 25 MJ  

Ans. (c) : ieeflepe Tpee& = 21
mv

2
 mes,  

ØeMveevegmeej,  
š^sve efkeâ ieeflepe Tpee& ceW heefjJele&ve  

 { }2 21
50000 (25) (5)

2
= × −  

 
1

50000 600
2

= × ×  

 = 15 × 106 petue = 15 cesiee petue   

4.  In the question two statements are given, 
followed by two conclussions, I and II. You 
have to consider the statements to be true even 
if it seems to be at variance from commonly 
known facts. You have to decide which of the 
given conclusions, if any, follows from the given 
statements. 

  Statement 1 : All Red is Colour. 
  Statement 2 : No Colour is Pigment. 
  Conclusion I : No Red is Pigment. 
  Conclusion II : Some Colour is Red. 
  ØeMve ceW oes keâLeve efoS ieS nQ, Fmekesâ yeeo oes efve<keâ<e& I 

Deewj II efoS ieS nQb Deehekeâes Fve keâLeveeW keâes melÙe ceevevee 
nw, Yeues ner Jes meeceevÙe ™he mes %eele leLÙeeW mes efYeVe neW~ 
DeehekeâeW veerÛes efoS ieS efve<keâ<eeX ceW mes keâewve mee efve<keâ<eË 
keâLeve keâe DevegmejCe, keâjsiee~   

  keâLeve 1: meYeer ueeue jbie nQ 
  keâLeve 2 : keâesF jbie JeCe&keâ veneR nQ  
  efve<keâ<e& I : keâesF& ueeue JeCe&keâ veneR nQ 
  efve<keâ<e& II : kegâÚ jbie ueeue nQ 
 (a) Only conclusion I follows 
  kesâJeue efve<keâ<e& I DevegmejCe keâjlee nw 
 (b) Neither I nor II follows 
  ve lees I Deewj ve ner II DevegmejCe keâjles nQ   
 (c) Only conclusion II follows 
  kesâJeue efve<keâ<e& II DevegmejCe keâjlee nQ 
 (d) Both I and II follow 

   I Deewj II oesveeW DevegmejCe keâjles nQ 
Ans. (d) : ØeMveevegmeej, Jesve DeejsKe KeerÛeves hej -  

  
GheÙeg&òeâ Jesve DeejsKe mes mhe° nw  efkeâ efve<keâ<e& (I) Deewj efve<keâ<e& (II) 

oesveeW efoÙes ieÙes keâLeve keâe DevegmejCe keâjles nw~   
5.  Find the heat capacity of a pan of mass 180 g, if 

its temperature rises by 50 degree on receiving 
2400 J of heat. 

  180 «eece õJÙeceeve kesâ Skeâ leJes keâer G<cee #ecelee keâe 
helee ueieeSb, Deiej 2400J leehe Øeehle keâjves hej Fmekeâe 
leeheceeve 50 ef[«eer yeÌ{ peelee nw~  

 (a) 48 JK–1 (b) 16.67 Jkg–1K–1  
 (c) 13.33 Jkg–1K–1 (d) 36 JK–1 

Ans. (*) : õJÙeceeve (m) · 180 «ee. · 0.18 efkeâ«ee. 
 Q = 2400 petue  
 C = ? 

 leeheevlej (∆T) = 50°C/Kelvin 
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 Q = mC∆T mes,  

 e = 
Q 2400

m 0.18 50
=

∆ ×
= 266.67 Jkg–1K–1 

6.  One statement is given followed by two 
conclusions. You have to decide which of the 
given conclusions can definitely be drawn from 
the given statement. 

  Statements: Modern humans have time saving 
gadgets, yet has no time. 

  Conclusion I : Time saving gadgets actually 
waste time. 

  Conclusion II : All modern humans desperately 
need to manage their time. 

  Skeâ keâLeve kesâ yeeo oes efve<keâ<e& efoS ieS nQ~ Deehekeâes Ùen 
leÙe keâjvee nesiee efkeâ efoS ieS keâLeve ceW mes keâewve mee 
efve<keâ<e& efveef§ele ™he mes efvekeâeuee pee mekeâlee nw~  

  keâLeve: Deepe kesâ ceveg<Ùe kesâ heeme meceÙe yeÛeeves Jeeues 
iewpesšdme (Ùeb$e) nQ, efHeâj Yeer meceÙe veneR nw~  

  efve<keâ<e& I : meceÙe yeÛeeves Jeeues iewpesšdme ner meceÙe yeyee&o 
keâjles nQ~  

  efve<keâ<e& II : meYeer DeeOegefvekeâ ceveg<ÙeeW keâes Deheves meceÙe 
keâe ØeyebOeve keâjves keâer meKle DeeJeMÙekeâlee nw~  

 (a) Neither I nor II follows 
  ve lees I Deewj ve ner II DevegmejCe keâjlee nQ 
 (b) Only conclusion II follows 
  kesâJeue efve<keâ<e& II DevegmejCe keâjlee nw 
 (c) Both I and II follow  
  I Deewj II oesveeW DevegmejCe keâjles nQ 
 (d) Only conclusion I follows 
  kesâJeue efve<keâ<e& I DevegmejCe keâjlee nw 
Ans. (a) : efoÙes ieÙes keâLeve mes mhe° nw efkeâ ve lees efve<keâ<e& (I)  Deewj 
ve ner efve<keâ<e& (II) GheÙeg&òeâ keâLeve keâe DevegmejCe keâjles nw~   
7.  Which of the following is the correct relation 

between potential difference ‘V’, current ‘I’ 
conductivity ‘σσσσ’, length ‘L’ and area of cross 
section ‘A’ of a metal wire? 

  efvecveefueefKele ceW mes keâewve mee efJeYeJeeblej 'V', Oeeje 'I' 

Ûeeuekeâlee 'σσσσ', uebyeeF& 'L' Deewj Oeeleg kesâ leej kesâ DevegØemLe 
keâeš kesâ #es$eHeâue (›eâe@me meskeäMeve) 'A' kesâ yeerÛe keâe mener 
mebyebOe nw? 

 (a) σ = VL/IA (b) VL = IAσ  
 (c) VA = ILσ (d) VσA = IL  

Ans. (c) : R = ρ
L

A

 
 
 

mes 

Ûetbefkeâ   V = IR 

 R = 
V

I
 

 
V

I
= ρ

L

A

 
 
 

 

 VA = ρ LI 

8.  The sum of ages of 4 children born at the 
intervals of 2 years each is 28 years. What is 
the age of the youngest child? 

  2 Je<e& kesâ Deblejeue hej hewoe ngS 4 yeÛÛeeW keâer DeeÙeg keâe 
Ùeesie 28 Je<e& nw~ meyemes Úesšs yeÛÛes keâer Gceü keäÙee nw? 

 (a) 3 years/meeue  (b) 2 years/meeue   
 (c) 5 years/meeue  (d) 4 years/meeue  
Ans. (d) : ceevee yeÛÛeeW efkeâ DeeÙeg (yeÌ{les ›eâce ceW) ›eâceMe: x, x + 2, 

x + 4, Je x + 6 nw,  
ØeMveevegmeej,  
 x + x + 2 + x + 4 + x + 6 = 28 
 4x + 12 = 28 

 
16

x 4
4

= =  

Dele: meyemes Úesšs yeÛÛes keâer DeeÙeg x = 4 Je<e& 
9.  The sentences given in the question, which 

properly sequenced, form a coherent 
paragraph. Each sentence is labeled with a 
letter. Choose the most logical order of 
sentences from among the given choices to 
construct a coherent paragraph. 

  ØeMve ceW efoS ieS JeekeäÙe, pees "erkeâ mes Deveg›eâefcele nQ, Skeâ 
megmebiele hewje«eeHeâ yeveeles nQ~ ØelÙeskeâ JeekeäÙe keâes Skeâ De#ej 
mes Debefkeâle (uesyeue) efkeâÙee ieÙee nw~ Skeâ megmebiele hewje«eeHeâ 
kesâ efvecee&Ce kesâ efueS efoS ieS efJekeâuheeW ceW mes JeekeäÙeeW keâe 
meyemes leeefke&âkeâ ›eâce ÛegveW~  

  I detest airports.  
 A. How? plus, the comically strange rules! 
 B. There are no open windows, and yet there are 

many pigeons.  
 C. My reasons to detest them are solid. 
 D. I connot carry water, but I can buy water once 

I am inside.  
 (a) CBAD (b) BDCA  
 (c) DBCA (d) DBAC 
Ans. (a) : Skeâ megmebiele hewje«eeHeâ kesâ efvecee&Ce kesâ efueS efoS ieS 
efJekeâuheeW ceW mes JeekeäÙeeW keâe meyemes leeefke&âkeâ ›eâce- CBAD   
10.  Chhau is a popular folk dance of which region 

of India? 
  ÚeG Yeejle kesâ efkeâme #es$e keâe ueeskeâefØeÙe ueeskeâve=lÙe nw? 
 (a) West/heef§ece  (b) North/Gòej   
 (c) East/hetJe&  (d) South/oef#eCe  
Ans. (c) : ÚT ve=lÙe hetJeea Yeejle ceW ØeÛeefuele Skeâ cegKeewše ve=lÙe nw~ 
Fme ve=lÙe ceW Deesef[Mee, PeejKeC[ Deewj heef§ece yebieeue kesâ DeeefoJeemeer 
ueesie Meeefceue nesles nQ~ Fme ve=lÙe ™he kesâ leerve Ghe-Øekeâej nQ~  
1. heg™efueÙee ÚT  

2. ceÙetjYebpe ÚT 
3. mejeÙekesâuee ÚT  

11.  Vitamin B1 is also known as_______. 
  efJešeefceve B1 keâes __________ kesâ veece mes Yeer peevee 

peelee nw~  
 (a) Niacin/efveÙeeefmeve  
 (b) Riboflavin/jeFyeesHeäuesefJeve   
 (c) Ascorbic acid/ Smkeâe@efye&keâ Sefme[ 
  (d) Thiamine/ LeeÙeefceve  
Ans. (d) : efJešeefceve SJeb Gvekesâ jemeeÙeefvekeâ veece-  
efJešeefceve    jemeeÙeefvekeâ veece  
efJešeefceve B1  - LeeÙeefceve  
efJešeefceve B2  - jeFjyeesHeäuesefJeve  
efJešeefceve B3  - hewvšesLesefvekeâ Decue  
efJešeefceve B6  - heeFjer[e@efkeämeve    
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12.  Acceleration due to gravity on Mars is 1/3rd 
that on earth. How much would an astronaut 
weight on Mars if he weighs 72 kg on earth? 
(Acceleration due to gravity on earth = 10 m/s

2
) 

  cebieue hej ieg®lJeekeâ<e&Ce kesâ keâejCe lJejCe he=LJeer kesâ 
cegkeâeyeues Skeâ efleneF& (1/3) nw~ Ùeefo Skeâ Debleefj#e Ùee$eer 
keâe he=LJeer hej Jepeve 72 efkeâuees nw lees cebieue hej Jepeve 
efkeâlevee nesiee? (he=LJeer hej ieg®lJeekeâ<e&Ce lJejCe = 

10m/s
2
) 

 (a) 720 N  (b) 240 N   
 (c) 120 N (d) 360 N 

Ans. (b) : he=LJeer hej Jepeve (W1) = 72 kg 
 he=LJeer hej ieg™lJeekeâ<e&Ce (g) · 10 m/s2 

 cebieue hej ieg™lJeekeâ<e&Ce · g/3 

     = 
10

3
m/s2 

 Jepeve (cebieue) · 
3

Jepeve (he=LJee)r
= 

72

3
= 24 kg  

 cebieue hej Jepeve (vÙetšve ceW) = 24×10 = 240 N  
13.  What is the total surface area of a right circular 

cone of height 12 cm and base radius 8 cm? 
  12 mesceer TbÛeeF& Deewj 8 mesceer DeeOeej ef$epÙee Jeeues Skeâ 

ieesueekeâej Mebkegâ kesâ melen keâe kegâue #es$e keäÙee nw? 
 (a) 436.5 cm2 (b) 536.5 cm2  
 (c) 563.5 cm2 (d) 463.5 cm2 
Ans. (c) : 12 mesceer TBÛeeF& Deewj 8 mesceer ef$epÙe Jeeues Mebkegâ keâer 

efleÙe&keâ TBÛeeF& 2 2(12) (8)= +  

 144 64= + 208 cm=  

Mebkegâ kesâ melen keâe kegâue #es$eHeâue = πr(l + r)  

   = π × 8 ( )208 8+    

   = 3.14 × 8 ( )4 13 8+  
   = 3.14 × 8 (3.6 × 4 + 8)  
   = 25.12(14.48 + 8) 
   = 25.12 × 22.48 
   = 563.5 cm2 

14.  If the mean of x + 45, x – 32, x + 25, x + 13 and 
x – 21 is 12, then what is the mean of the last 
three observations? 

  Ùeefo X + 45, X – 32, X + 25, X + 13 Deewj X – 21keâe 
ceeOÙe (mean) 12 nw, lees Debeflece leerve Øes#eCeeW keâe ceeOÙe 
(mean) keäÙee nesiee?  

 (a) 15.67 (b) 14.67  
 (c) 12.67 (d) 11.67 

Ans. (d) : =
jeefMeÙeesW keâe Ùeesie ceeOÙe mes
jeefMeÙeesW keâer mebKÙee 

 

= 
x 45 x 32 x 25 x 13 x 21

12
5

+ + − + + + + + −
=  

5x + 30 = 12 × 5 

30
x 6

5
= =  

Debeflece leerve Øes#eCeeW keâe ceeOÙe 
x 25 x 13 x 21

3

+ + + + −
=  

x keâe ceeve jKeves hej 
3x 17

3

+
=  

  
3 6 17 35

11.67
3 3

× +
= = =  

15.  If the speed of a car increases from 64 km/hr to 
120 km/hr its kinetic energy would increase in 
the ratio_______. 

  Ùeefo efkeâmeer keâej keâer ieefle 64 efkeâceer/Iebše mes yeÌ{keâj 
120 efkeâceer/Iebše nes peeleer nw lees Gmekeâer ieeflepe Tpee& 
_______ kesâ Devegheele ceW yeÌ{ peeSieer~  

 (a) 15/8 (b) 225/64  
 (c) 25/16 (d) 125/32 
Ans. (b) : V1 = 64 efkeâceer/Iebše 
 V2 = 120 efkeâceer/Iebše 
 õJÙeceeve meceeve nw (m)~ 
 K1 = ½mv1

2 
      = ½(64)2 = 4096 petue 
 K2 = ½ mv2

2 
      = ½(120)2  = 14,400 petue 

 Deevegheeeflekeâ Je=efæ · 
14400 1800

4096 512
= = 

225

64
 

16.  Find the missing number. 

  ueghle mebKÙee %eele keâjW~ 
  (?) –22731 – 43211 = 10601 
 (a) 76534 (b) 76543  
 (c) 75643 (d) 75463 

Ans. (b) : (?) – 22731 – 43211 = 106011 
(?) = 10601 + 22731 + 43211 = 76543 

Dele: ueghle mebKÙee (?) = 76543 

17.  Find mass of a gold biscuit of dimensions 5 cm 
× 3 cm  × 0.5 cm. (Density of gold 19 gm/cm

3
) 

  5 mesceer × 3 mesceer × 0.5 mesceer DeeÙeele Jeeues meesves kesâ 
efyeefmkeâš keâe õJÙeceeve %eele keâjW~ (meesves keâe IevelJe 19 
gm/cm

3
) 

 (a) 122.5g (b) 142.5g  
 (c) 162.5g (d) 152.5g 
Ans. (b) : meesves kesâ efyeefmkeâš keâe DeeÙeleve = 5 × 3 × 0.5 = 7.5 

mesceer3 
õJÙeceeve = DeeÙeleve × IevelJe mes  
= 7.5 × 19 = 142.5gm    
18.  Find the specific heat capacity of a block of metal 

of mass 300 g, the temperature of which rises by 
50 degrees when it absorbs 12 kJ of heat? 

  300 «eece Oeeleg kesâ Skeâ yuee@keâ keâer efJeefMe° leehe #ecelee 
keäÙee nesieer, peye Ùen 12kJ keâer T<cee keâes DeJeMeesef<ele 
keâjlee nw leye Fmekeâe leeheceeve 50 ef[«eer lekeâ yeÌ{ 
peelee nw? 

 (a) 2.5 Jg–1K–1 (b) 1.25 Jg–1K–1  
 (c) 0.5 Jg–1K–1 (d) 0.8 Jg–1K–1 

Ans. (d) : m = 300 gm 

 ∆T = 50°C 
 Q = 12 KJ 

 = 12000J 

 efJeefMe° leehe #ecelee (S) = ? 

 Q = m.s. ∆T  
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 S = 
Q

m. T∆
 = 

12000

50 300×
 

 = 
12

5 3×
= 

4

5
 = 0.8 J g-1K-1 

19.  The weights of 4 boxes are 4.5, 9.5, 11 and 13 
kilograms. Which of the following CANNOT be 
the total weight, in kilograms, of any 
combination of these boxes? 

  4 yekeämeeW keâe Jepeve 4.5, 9.5, 11 Deewj 13 efkeâuees«eece nw~ 
efvecveefueefKele ceW mes keâewve mee, efkeâuees«eece Fve yekeämeeW kesâ 
efkeâmeer Yeer mebÙeespeve keâe kegâue Jepeve veneR nes mekeâlee nw? 

 (a) 38 (b) 35  
 (c) 28.5 (d) 33.5 
Ans. (b) : efJekeâuhe mes :– 
a) 38 → 4.5+9.5 +11 + 13 ⇒ 38 kg 

b) 35 → efkeâmeer Yeer yeekeämeeW kesâ mebÙeespeve mes vener yevesiee~  
c) 28.5 → 4.5 + 11 + 13 ⇒ 28.5 kg 
d) 33.5 → 9.5 + 11 + 13 33.5 kg 

Dele: efJekeâuhe (b), 35 kg efkeâmeer Yeer mebÙeespeve mes vener yevesiee~ 
20.  Where is the headquarters of UNSECO located? 

  Ùetvesmkeâes keâe cegKÙeeueÙe keâneb efmLele nw? 
 (a) New york/vÙetÙee@ke&â  (b) Paris/hesefjme   
 (c) Rome/jesce  (d) Geneva/pesvesJee  
Ans. (b) : Debleje&°^erÙe mebie"ve Deewj Gvekesâ cegKÙeeueÙe  
mebie"ve keâe veece    cegKÙeeueÙe  
mebÙegòeâ je°^ mebIe   - vÙetÙee@ke&â  
Ùetvesmkeâes   - hesefjme  
SefMeÙeeF& efJekeâeme yeQkeâ  - ceveeruee (efHeâefueheeeRme)  
Fbšjheesue    - efueÙeesve  (øeâebme)  
js[ ›eâe@me    - pesvesJee (efmJešdpejueQ[)   
21.  X and Y start to cycle from point P towards 

point Q. The distance between P and Q is 10 
km. Y starts 8 minutes after X. X on reaching 
Q immediately returns and after cycling for 2 
km meets Y. If X’s speed be a kilometer in 6 
minutes, what is Y’s speed in kilometers per 
minute? 

  X Deewj Y, P efyebog mes efyebog Q keâer Deesj meeFefkeâue Ûeueevee 
Meg™ keâjlee nQ~ P Deewj Q kesâ yeerÛe keâer otjer 10 efkeâceer nw~ 
Y, X mes 8 efceveš yeeo Ûeuevee Meg™ keâjlee nw, X efyebog Q 

hej hengbÛeves kesâ legjble yeeo ueewš heÌ[lee nw Deewj 2 efkeâceer 
lekeâ meeFefkeâue Ûeueeves kesâ yeeo Gmekeâer cegueekeâele Y mes 
nesleer nw~ Ùeefo X keâer ieefle 6 efceveš ceW Skeâ efkeâueesceeršj 
keâer nw, lees Y keâer ieefle efkeâueesceeršj Øeefle efceveš ceW 
keäÙee nw? 

 (a) 1/6 (b) 1/8  
 (c) 1/10 (d) 1/15 

Ans. (b) :  

    
ØeMveevegmeej,  
Y mes efceueves lekeâ X Éeje Ûeueer ieÙeer otjer = 10 + 2 = 12 km  

leLee Y Éeje Ûeueer ieÙeer otjer = 8km 

X Éeje 12km. Ûeueves ceW efueÙee ieÙee meceÙe 12 × 6 = 72 efceveš 

lees Y Éeje 8efkeâceer Ûeueves ceW efueÙee ieÙee meceÙe  

= 72 – 8 = 64 efceveš  

Dele: Y keâer Ûeeue (efkeâceer/efceveš ceW) 
8 1

64 8
e fkeâceer/efceveš= =  

22.  Find the efficiency of a pulley system which has a 
Mechanical advantage of 3.6 and where the load 
lifts by 1.6 meters on pulling the rope by 8 m. 

  Skeâ ÛejKeer ØeCeeueer (hegueer efmemšce) keâer o#elee keâe helee 
ueieeSb, efpemekeâe Ùeebef$ekeâ ueeYe 3.6 nQ Deewj peneB jmmeer 
keâes 8 ceeršj KeeRÛeves hej Yeej 1.6 ceeršj Thej G" 
peelee nw~  

 (a) 64% (b) 81%  
 (c) 90% (d) 72% 
Ans. (d) : efoÙee nw- 
 Ùeebef$ekeâ ueeYe  

 Jesie Devegheele (VR) · 
ØeÙeeme keâ s Éeje leÙe keâer ieF & ojt er

Yeej keâs Éeje leÙe keâe r ieF & ojt er
 

 VR = 
8m

1.6 m
= 5 m 

Deye hegueer efmemšce keâer o#elee  

  = 100
Ùeebef$ekeâ ueeYe

Jeis e Devehg eele
×   

 = 
3.6

100 72%
5

× =  

23.  If one and a half litres of hot water at 80°C is 
mixed with two and a half a litres of colder water 
at 40°C, find the final equilibrium temperature if 
no heat is lost.  

  Ùeefo 80ºC leehe hej [sÌ{ ueeršj iece& heeveer keâes 40ºC leehe 
hej {eF& ueeršj "bÌ{s heeveer ceW efceueeÙee peelee nw, lees Debeflece 
meceleguÙe heele keäÙee nesiee Ùeefo G<cee keâer keâesF& neefve veneR 
nesleer nes~ 

 (a) 50ºC (b) 55ºC  
 (c) 60ºC (d) 65ºC 

Ans. (b) : ceevee Debeflece meceleguÙe leehe = TºC 

nce peeveles nQ, heeveer keâer efJeefM° G<cee #ecelee = 4200 Jkg–1ºC–1 

leye,   
iece& heeveer Éeje KeeF& ieF& G<cee = 1.5 × 4200 (80 – T) 

"b[s heeveer Éeje Øeehle keâer ieF& G<cee = 2.5 × 4200 (T – 40) 

efceßeCe kesâ efmeæeble kesâ Devegmeej,  
KeesF& ieF& G<cee = Øeehle keâer ieF& mebKÙee 
1.5 × 4200 (80 – T) = 2.5 × 4200 (T – 40) 

120 – 1.5T = 2.5T – 100 
4T = 220 

T = 55ºC 

24.  The gravitational acceleration is______m/s
2
 at 

the equator. 

  YetceOÙe jsKee hej ieg®lJeekeâ<e&Ce lJejCe _____ m/s
2
 nw~  

 (a) 9.87 (b) 9.72  

 (c) 9.78 (d) 9.83 
Ans. (c) : YetceOÙe jsKee hej ieg®lJeekeâ<e&Ce lJejCe 9.78m/s2 neslee nw~ 
YetceOÙe jsKee hej he=LJeer keâe JÙeeme ueieYeie 12,756 efkeâueesceeršj nw~ 
YetceOÙe jsKee he=LJeer keâes Gòejer ieesueeæ& Deewj oef#eCeer ieesueeæ& ceW 
efJeYeeefpele keâjleer nw~  
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25.  If FOIBLES is coded as IRLEOHV, then how 
will TAX be coded as? 

  Ùeefo FOIBLES keâes keâes[ ™he ceW IRLEOHV efueKee 
peelee nw, lees TAX keâes efkeâme Øekeâej efueKee peeSiee? 

 (a) GZC  (b) UBY  
 (c) SZW (d) WDA 
Ans. (d) : efpeme Øekeâej,   Gmeer Øekeâej, 

3

3

3

3

3

3

3

F I

O R

I L

B E

L O

E H

S V

+

+

+

+

+

+

+

→

→

→

→

→

→

→

   

3

3

3

T W

A D

X A

+

+

+

→

→

→

 

26.  A shopkeeper expects a gain of 50% on his cost 
price. If in a week, his sale was of ìììì 450, what 
was his profit? 

  Skeâ ogkeâeveoej keâes Deheveer ueeiele cetuÙe hej 50³ keâe 
ueeYe nesves keâer Gcceero nw, Ùeefo Skeâ mehleen ceW, Gvekeâer 
efye›eâer `̀̀̀450 keâer Leer, lees Gmekeâe ueeYe keäÙee Lee? 

 (a) `200 (b) `150  
 (c) `180 (d) `250 
Ans. (b) : efoÙee nQ, 
50³ ueeYe hej efJe›eâÙe cetuÙe = `450 

Dele: ›eâÙe cetuÙe 
100

450
150

= × = `300 

ueeYe = 450 – 300 = `150 

27.  Choose the figure which is different from the rest. 

  Jen Deeke=âefle ÛegveW pees otmejeW mes efYeVe nes? 

 

(a)

  

(b)

   

 

(c)

  

(d)

  
Ans. (c) : ØeMveevegmeej, efJekeâuhe Deeke=âefle (c) DevÙe meYeer Deeke=âefleÙeeW 
mes efYeVe nw~ Dele: efJekeâuhe (c) Demebiele nw~   
28.  Here are some words from an artificial language. 

  kra sup means life time 

  gre kra means mean time 

  sup rom means life line 

  Which word wouldmean ‘coastline’? 
  ÙeneB Skeâ ke=âef$ece Yee<ee kesâ kegâÚ Meyo efoS ieS nQ~  
  Kra sup celeueye life time  

  Gre kra celeueye mean time  

  Sup rom celeueye life line  

  veerÛes efoS ieS MeyoeW ceW mes efkeâmekeâe celeueye 'coastline' 
nesiee? 

 (a) Romstu  (b) Makkra  
 (c) Greloz  (d) Vuzsup 

Ans. (a) : ØeMveevegmeej, 

  
efJekeâuhe (a) mes  
Dele: Romstu keâe celeueye 'coastline' nesiee~  
29.  Pipes A and B can fill a tank in 15 and 10 hours 

respectively. Pipe C can empty it in 40 hours. If 
all the three pipes are opened together, then the 
tank would be filled in. 

  heeFhe A Deewj B ›eâceMe: 15 Deewj 10 Iebšs ceW Skeâ šQkeâ Yej 
mekeâles nQ~ heeFhe C Fmes 40 Iebšs ceW Keeueer keâj mekeâlee nw~ 
Ùeefo leerveeW heeFheeW keâes Skeâ meeLe Keesuee peelee nw, lees šQkeâ  
Yej peeSieeR: 

 (a) 120/17 hours/Iebšs (b) 180/53 hours/Iebšs 
 (c) 17/120 hours/Iebšs (d) 53/180 hours/Iebšs 
Ans. (a) : Ùeefo heeFhe A Deewj B ›eâceMe: 15 IeCšs Deewj 10 IeCšs 
ceW šQkeâ keâes Yej mekeâles nw leLee heeFhe C Fmes 40 IeCšs ceW Keeueer keâj 
mekeâleer nw lees  

1 IeCšs ceW šQkeâ keâe Yeje ieÙee efnmmee 
1 1 1

15 10 40
= + −  

   
8 12 3 17

120 120

+ −
= = Yeeie  

Dele: hetjs šQkeâ keâes Yejves ceW efueÙee ieÙee meceÙe 
120

17
= IeCše   

30.  A said to B, ‘‘You are my mother’s father’s son-
in-laws’ son.’’ How is B related to A, if B’s 
mother has no siblings?  

  A ves B mes keâne, ‘‘Deehe cesjer ceeb kesâ efhelee kesâ oeceeo kesâ 
yesšs nQ~’’ B keâe A mes keäÙee efjMlee nw, Ùeefo B keâer ceeB keâe 
keâesF& YeeF&-yenve veneR nw? 

 (a) B is the father of A/ B, A keâe efhelee nw  
 (b) B is the brother of A/ B, A keâe YeeF& nw  
 (c) B is the son of A/ B, A keâe heg$e nw 
 (d) B is the grand-father of A/ B, A keâe memegj nw 
Ans. (b) : ØeMveevegmeej jòeâ mecyebOe DeejsKe efvecveJele nw-  

  
Dele: GheÙeg&òeâ DeejsKe mes mhe° nw efkeâ B, A keâe YeeF& nw~   
31.  Choose the letters which are different from the 

rest. 

  Gve De#ejeW keâes ÛegveW pees otmejeW mes efYeVe nw? 
 (a) HIJ (b) RFV  
 (c) VWX (d) TUV 

Ans. (b) : efJekeâuhe (a) → HIJ ⇒ 
1 1

H I J
+ +→ →  

efJekeâuhe (b) → RFV ⇒ 
12 16

R F V
− +→ →  

efJekeâuhe (c) → VWX ⇒ 
1 1

V W X
+ +→ →  
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efJekeâuhe (d) → TUV ⇒ 
1 1

T U V
+ +→ →  

Dele: GheÙeg&òeâ mes mhe° nw efkeâ efJekeâuhe (b) ceW efoÙes ieÙes De#ejeW kesâ 
mecetn DevÙe mes efYeVe nw~  
32.  A fruit seller had some apples. He sells 30% 

apples and still has 630 apples. Originally, he 
had_____apples. 

  Skeâ Heâue efJe›esâlee kesâ heeme kegâÚ mesye Les~ Gmeves 30³ mesye 
yesÛe oslee nw Deewj efHeâj Yeer Gmekesâ heeme 630 mesye yeÛeles 
nQ~ JeemleJe ceW Gmekesâ heeme _______ mesye Les~  

 (a) 800 (b) 850  
 (c) 1,000 (d) 900 
Ans. (d) : ceevee kegâue mesyees efkeâ mebKÙee = x  

ØeMveevegmeej,   

 
( )100 30

x 630
100

−
× =  

 
630 100

x 900
70

×
= =  

Dele: mesyees efkeâ kegâue mebKÙee x = 900 mesye  
33.  The value of 1120 × 1230 is. 

  1120 × 1230 keâe ceeve nesiee: 
 (a) 1433600 (b) 1377600  
 (c) 1377800 (d) 1477800 

Ans. (b) : 1120 × 1230 = 1377600  
34.  Two resistors of RΩΩΩΩ and 6ΩΩΩΩ are connected in 

parallel to get an effective resistance of 4.5ΩΩΩΩ. 
Find the value of R. 

  RΩΩΩΩ Deewj 6ΩΩΩΩ kesâ oes ØeeflejesOeeW keâes meceeveeblej ›eâce ceW 
peesÌ[e peeS lees 4.5ΩΩΩΩ keâe ØeYeeJeer ØeeflejesOeer Øeehle neslee nw~ 
R keâe ceeve %eele keâjW~  

 (a) 12 (b) 24  
 (c) 18 (d) 30 
Ans. (c) : ØeeflejesOeeW keâes meceevlej ›eâce ceW peesÌ[ves hej, 

 
1 1 1

R 6 4.5
+ = ⇒ 1 1 1

R 4.5 6
= −  

 
1 0.5

R 9
= ⇒ 1 1

R 18
=  

 R = 18 

35.  If P $ Q means P is the husband of Q; P ! Q 
means P is the mother Q and P * Q means P is 
the wife of Q, which of the following shows that 
A is father-in-law of D? 

  Ùeefo P $ Q keâe DeLe& nw efkeâ P, Q keâe heefle nw; P ! Q keâe 
celeueye nw P, Q keâer ceeB nw Deewj P * Q keâe nw P, Q keâer 
helveer nw~ efvecveefueefKele ceW mes keâewve mee meceerkeâjCe Ùen 
oMee&lee nw efkeâ A, D keâe memegj nQ? 

 (a) A $ B * C ! D (b) A ! B * C $ D  
 (c) A $ B ! C * D (d) A ! B $ C * D 
Ans. (c) : efJekeâuhe (c) ceW efoÙes ieÙes meceerkeâjCe A $ B ! C * D kesâ 
Devegmeej jòeâ mecyebOe DeejsKe efvecveJele nesiee-  

 
Dele: GheÙeg&òeâ DeejsKe mes mhe° nw efkeâ A, D keâe memegj nw~  

36.  Find the length of the edge of a metal cube of 
density 8 g/cm

3
 which weight 17.28 kN. (Use g = 

10 m/s
2
) 

  8g/cm
3
 IevelJe Jeeues Oeeleg kesâ Gme Ieve kesâ efkeâveejs keâer 

uebyeeF& %eele keâerefpeS efpemekeâe Jepeve 17.28kN nw~ (G = 

10m/s
2
 keâe GheÙeesie keâjW) 

 (a) 9 cm (b) 8 cm  
 (c) 10 cm (d) 6 cm 

Ans. (d) : 
õJÙeceeveDeeÙeleve mes
IevelJe

=  

efoÙes ieÙes Ieve keâe DeeÙeleve = 
3

317.28 10
216cm

10 8

×
=

×
 

∵ Ieve keâe DeeÙeleve = a3 mes ----- (a = Ieve kesâ efkeâveejs keâer uecyeeF&)  
lees a3 = 216 cm3 

a = 

1

3(216) cm = 6 cm  
37.  Two children of 24 kg and 16 kg sit on one side 

of a see-saw at a distance of 1 m and 0.625 m 
respectively, from the fulcrum. If a body of ‘m’ 
kg sits on the other side of the see-saw at a 
distance of 1.6 m from the fulcrum and the see-
saw is in equilibrium. Find m. 

  24 efkeâ«ee Deewj 16 efkeâ«ee kesâ oes yeÛÛes efkeâmeer meer-mee@ 
(efnb[esjs) kesâ Skeâ lejHeâ Deeuebye (Heâue›eâce) mes ›eâceMe: 1 
ceeršj Deewj 0.625 ceeršj keâer otjer hej yew"s nQ~ Ùeefo Gme 
meer-mee@ kesâ otmejs lejHeâ 'm' efkeâuees«eece Jepeve keâe Skeâ 
ueÌ[keâe, Heâue›eâce mes 1.6 ceeršj keâer otjer hej yew"lee nw 
meer-mee@ meblegueve keâer efmLeefle ceW jnlee nw~ 'm' keâe ceeve 
%eele keâjW~  

 (a) 21.25 kg (b) 32.25 kg   
 (c) 27.75 kg  (d) 36.75 kg  

Ans. (a) : Ûetbefkeâ 24 kg leLee 16 kg kesâ yeÛÛes Deeuecye kesâ Skeâ ner 
lejHeâ leLee keâe yeÛÛee Deeuecye kesâ otmejer lejHeâ yew"e nw~ Dele: mevlegueve 
keâer DeJemLee ceW, 
 (24×1) + (16×0.625) = m×1.6 
 24 + 10 = m × 1.6 

 m = 
m

1.6
 

 m = 21.25 kg 

Dele: otmejer Deesj yew"s yeÛÛes keâe Jepeve 21.25 kg nesiee~  
38.  The given Venn diagram shows the number of 

students who have passed in the three language 
tests, English, Hindi and Marathi. How many 
students failed in any one language test? 

  efoS ieS Jesve DeejsKe ceW Gve Úe$eeW keâer mebKÙee keâes oMee&Ùee 
ieÙee nQ pees leerve Yee<eeDeeW-Deb«espeer, efnboer Deewj ceje"er keâer 
hejer#ee ceW heeme ngS nQ~ efkeâmeer Skeâ Yee<ee keâer hejer#ee ceW 
efkeâleves Úe$e Hesâue ngS? 

   
 (a) 45 (b) 19  
 (c) 6 (d) 24 
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Ans. (b) : meYeer hejer#ee ceW DevegleeaCe Úe$eeW keâer meb. 
 = 75 – (19+7+15+9+5+3+11)  
 = 75 – 69 = 6 
ceje"er ceW Deveg$eerCe& Úe$eeW keâer mebKÙee = 75 – (19+7+9+5) = 35 

kesâJeue ceje"er ceW Deveg$eerCe& Úe$eeW keâer meb. = 35 – (11+15+6) = 3  
Deb«espeer ceW Deveg$eerCe& Úe$eeW keâer meb. = 75 – (7+15+5+3) = 45 

kesâJeue Deb«espeer ceW Deveg$eerCe& Úe$eeW keâer meb. = 45 – (19+11+6) = 9 

efnvoer ceW Deveg$eerCe& Úe$eeW keâer meb. = 75 – (3+5+3+11) = 47  

kesâJeue efnvoer ceW Deveg$eerCe& Úe$eeW keâer meb. = 47– (19+15+6) = 7 

∴ efkeâmeer Yeer Skeâ hejer#ee ces Deveg$eerCe& Úe$eeW keâer meb. = 3+9+7 = 19   
39.  Find the potential difference across a resistance of 

3.6 kΩΩΩΩ through which a 2.5 mA current flows. 

  3.6 kΩΩΩΩ kesâ ØeeflejesOe mes neskeâj 2.5mA keâer Oeeje ØeJeeefnle 
nesleer nw lees efJeYeJeeblej keâe ceeve %eele keâerefpeS~  

 (a) 0.3V (b) 9V  
 (c) 8V (d) 1.44V 
Ans. (b) : ØeeflejesOe (R) = 3.6 kΩ 
      = 3.6×103Ω 
      Oeeje = 2.5 mA 

  = 
2.5

1000
 

  = 0.0025 A  
 efJeYeeJeevlej (V) = IR 

  = 3.6×103×0.0025 

  = 9 Jeesuš  
40.  ______is the general term covering all the 

different types of threats to your computer 
safety such as viruses, spyware, worms, trojans, 
rootkits and so on.  

  ______ meeceevÙe ™he ceW keâchÙetšj keâer megj#ee mes pegÌ[s 
meYeer Øekeâej kesâ LeÇsDešdme pewmes keâer JeeÙejme, mheeF&JesÙej, 
Jecme&, š^espeve, ™šefkeâšdme Deeefo Deece nw~ 

 (a) Clickbait/ eqkeäuekeâyesš (b) Encryption/Fefv›eâhMeve   
 (c) Spam/ mhewce  (d) Malware/ ceeueJesÙej  
Ans. (d) : ceeueJesÙej meeceevÙe ™he ceW keâchÙetšj keâes megj#ee  mes peg[s 
meYeer Øekeâej kesâ LeÇesDešdme pewmes keâer JeeÙejme, mheeF&JesÙej, Jecme&, š^espeve, 
™šefkeâšdme Deeefo Deece nw~ ceeueJesÙej Skeâ meeHeäšJesÙej nw efpemes Keeme 
leewj hej efkeâmeer keâchÙetšj Ùee GmeceW Fbmše@ue efkeâS ieÙes otmejs meeHeäšJesÙej 
keâes vegkeâmeeve henBgÛeeves kesâ efueS yeveeÙee peelee nw~   
41.  In a certain code language, ‘+’, represents, ‘×’, ‘÷÷÷÷’ 

represents ‘+’, ‘–’ represents ‘÷÷÷÷’ and ‘×’ 
represents, ‘–’. Find out the answer to the 
following questions. 

  Skeâ efveef§ele ketâš Yee<ee ceW '+',  '×' keâe ØeefleefveefOelJe 
keâjlee nw, '÷', '+' keâe ØeefleefveefOelJe keâjlee nw '–', '÷' keâe 
ØeefleefveefOelJe keâjlee nw Deewj '×', '–' keâe ØeefleefveefOelJe 
keâjlee '×' nw~ efvecveefueefKele ØeMve keâe Gòej %eele keâerefpeS~  

  9 ÷ 8 – 18 ÷ 10 × 2 = ?   
 (a) 19 (b) 13  

 (c) 4 (d) 12 

Ans. (d) : ØeMveevegmeej efÛebnes keâes heefjJeefle&le keâjves hej Øeehle meceerkeâjCe  
9 ÷ 8 – 18 ÷ 10 × 2 ⇒ 9 × 8 ÷ 18 + 10 – 2  

= 
8

9 10 2
18

× + − = 4 + 8 = 12 

42.  If selling price is doubled, the profit becomes 
four times. Find the profit. 

  Ùeefo efyeÇkeâer cetuÙe oesiegvee nes peelee nw, lees Gme hej ueeYe 
Ûeej iegvee nes peelee nw, ueeYe keâer ieCevee keâjW 

 (a) 50% (b) 200%  
 (c) 100% (d) 40% 
Ans. (a) : ceevee ØeejefcYekeâ ›eâÙe cetuÙe Je efye›eâer cetuÙe ›eâceMe: x leLee 
y nw lees ueeYe = y – x  
ØeMveevegmeej, efJe›eâÙe cetuÙe 2y hej ueeYe = 4 (y – x)  

Dele: 2y = 4(y –x) + x  

2y = 4y – 4x + x  

2y = 4y – 3x ⇒ 
3

y x
2

=  

Dele: ueeYe y – x = 2x – x = 
1

x
2

 

ueeYe ØeefleMele 

1
x

2 100
x

= × = 50%  

43.  A wire is stretched to 4 times its original length. 
The resistance of the streched wire will 
be_____its original resistance. 

  Skeâ leej keâes Gmekeâer cettue uebyeeF& mes 4 iegvee lekeâ KeeRÛee 
peelee nw~ KeeRÛes ngS leej keâe ØeeflejesOe Fmekesâ cetue ØeeflejesOe 
keâe _____ nesieeb  

 (a) 1/16th/1/16Jeeb (b) half/DeeOee  
 (c) 16 time/16 iegvee  (d) double/oesiegvee 
Ans. (c) : Ûebtefkeâ KeerÛeveW mes henues Deewj yeeo ceW Yeer leej keâe DeeÙeleve 
meceeve jnsiee~ DeLee&le Vi = VF = V 

Meg™Deeleer ØeeflejesOe R1 = 
A

ρ
l

V
= ρ

2
l

  Ûetbefkeâ 
V

A
 = 
 l

 

Deefvlece ØeeflejesOe R2 = 
2(4 )

V
ρ

l
 

Ûetbefkeâ  l' = 4l 

 

2

2

2

1

R (4 )

R
=

l

l
 

R2 = 16 iegvee  
44.  In a mixture 100 litres, the ratio of milk and 

water is 3:2. If this ratio is to be 1:2, then the 
quantity of water to be further added is. 

  100 ueeršj kesâ Skeâ efceßeCe ceW, otOe Deewj heeveer keâe 
Devegheele 3 : 2 nw~ Ùeefo Fme Devegheele keâes 1 : 2 keâjvee 
nes, lees Deewj efkeâlevee heeveer [euevee nesiee: 

 (a) 120 liters/ueeršj  (b) 80 liters/ueeršj   
 (c) 60 liters/ueeršj  (d) 100 liters/ueeršj   
Ans. (b) : efoÙes ieÙes efceßeCe ceW otOe efkeâ ØeejbefYekeâ cee$ee 

3
100 60

5
= × = }eršj 

heeveer keâer cee$ee = 100 – 60 = 40 ueeršj  
Ùeefo x ueeršj heeveer efceueeves hej efceßeCe ceW otOe Deewj heeveer keâe Devegheele 
1 : 2 nes peelee nes lees  

60 1

40 x 2
=

+
 

40 + x = 120   

x = 120 – 40 = 80 ueeršj 
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45.  Select the related word from the given alternatives. 
  Verse : Stanza : : Sentences: ? 
  efoS ieS efJekeâuheeW ceW mebyebefOele Meyo keâe ÛeÙeve keâjW~  
  Úbo : oesne : : JeekeäÙe : ? 
 (a) Book/efkeâleeye  (b) Poem/keâefJelee  
 (c) Author/uesKekeâ  (d) Paragraph/heefjÛÚso  
Ans. (d) : efpeme Øekeâej,  
Úboes keâe mecetn oesne keânueelee nw~ Gmeer Øekeâej, JeekeäÙeeW keâe mecetn 
hewje«eeHeâ keânueelee nw~Dele: efJekeâuhe (d) mener nesiee~   
46.  If 625 J of work is done in moving a charge of 

Q coulombs across 12.5 V, find Q. 
  Q ketâuebye kesâ DeeJesMe keâes 12.5V hej ØeJeeefnle keâjves ceW 

Ùeefo 625J keâe keâeÙe& neslee nw, lees Q keâe ceeve %eele keâjW~ 
 (a) 40 (b) 25  
 (c) 20 (d) 50 
Ans. (d) : nce peeveles nQ efkeâ,  
DeeJesMe Q kesâ DeeJesefMele keâCe keâes V kesâ efJeYeJeeblej mes ieefleceeve keâjves 
ceW efkeâS ieS keâeÙe& keâer cee$ee -  
W = Q × V  
625 J = Q × 12.5V 

625
Q

12.5
=  

Q = 50  
47.  In a rectangle, if the length is increased by 80% 

and the breadth is increased by 20%, then its 
area is increased by. 

  Ùeefo Skeâ DeeÙele keâer uebyeeF& ceW 80³ keâer Deewj ÛeewÌ[eF& ceW 
20³ keâer Je=efæ ngF& nw, lees Fmekesâ #es$eHeâue ceW efkeâleveer 
Je=efæ nesieer? 

 (a) 60% (b) 116%  
 (c) 120% (d) 156% 

Ans. (b) : ØeMveevegmeej efoÙes ieÙes DeeÙele kesâ #es$eHeâue ceW ØeefleMele Je=efæ 

= 
80 20

80 20
100

×
+ +  

= 100 + 16 = 116%  
48.  ______circle is the apparent circle that the two 

gears can be taken like smooth cylinders rolling 
without friction. 

  ______ meke&âue Skeâ mhe° Ûe›eâ nw, oes efieÙej keâes Ssmes 
efueÙee pee mekeâlee nw pewmes keâesF& jesefuebie efmeueW[j efyevee 
Ie<e&Ce kesâ Ietcelee nes~  

 (a) Bevel/yesJesue  (b) Acme/Skeäces  
 (c) Pitch/efheÛe (d) Bore/yeesj 
Ans. (c) : efheÛe meke&âue Skeâ mhe° Ûe›eâ nw, efpemeceW oes efieÙej keâes Ssmes 
efueÙee pee mekeâlee nw, pewmes keâesF& jesefuebie efmeuesC[j efyevee Ie<e&Ce kesâ 
Ietcelee nes~  
49.  Read the given question and the two statements 

and decide whether the data provided in the 
statements are sufficient to answer the 
question. 

  How much does Sheela have to pay to the 
health club? 

  Statements: 

  I. The health club offers `̀̀̀1000 discount in 
fees for every kilogram weight lost in the 
previous month. 

  II. The health club fees are `̀̀̀10,000 before 
discount. Sheela weighted 75 kg in the 
previous month. 

  efoS ieS ØeMve Deewj oes keâLeve heÌ{W Deewj efveCe&Ùe ueW efkeâ 
keâLeve ceW efoS ieS [sše ØeMve keâe Gòej osves kesâ efueS 
heÙee&hle nQ~  

  ØeMve: nsuLe keäueye keâes Meeruee keâes efkeâlevee Yegieleeve keâjvee 
nesiee? 

  keâLeve:  
 I. nsuLe keäueye efheÚues cenerves ceW keâce efkeâS ieS Øeefle 

Skeâ efkeâuees«eece Jepeve kesâ efueS 1000 ™heÙes keâer 
Útš Øeoeve keâjlee nQ~  

 II. Útš mes henues nsuLe keäueye keâer Heâerme 10,000 ®heÙes 
nw~ Meeruee keâe Jepeve efheÚues cenerves 75 efkeâuees Lee~  

 (a) I and II together are sufficient  

  I Deewj II oesveeW meeLe ceW heÙee&hle nQ 
 (b) Neither I nor II is sufficient  

  ve lees I Deewj ve ner II heÙee&hle nw  
 (c) II alone is sufficient while I alone is not 

sufficient  
  II Dekesâuee heÙee&hle nw peyeefkeâ Dekesâuee I heÙee&hle veneR nw 
 (d) I alone is sufficient while II alone is not 

sufficient. 

  Dekesâues I heÙee&hle peyeefkeâ II Dekesâuee heÙee&hle veneR nw 
Ans. (b) : efoÙes ieÙes ØeMve keâe Gòej osves kesâ efueS ve lees keâLeve (I) 

Deewj ve ner keâLeve (II) heÙee&hle nw~ 
50.  Choose the one which is different from the rest. 

  Gve Meyo keâes ÛegveW pees otmejeW mes efYeVe nw? 
 (a) Bullock cart/yewueieeÌ[er  (b) Tractor/š^wkeäšj 
 (c) Car/keâej  (d) Bus/yeme  
Ans. (a) : yewueieeÌ[er keâes Ûeueeves kesâ efueS FËOeve keâer DeeJeMÙekeâlee veneR 
nesleer peyeefkeâ DevÙe efJekeâuheebs ceW efoÙes ieÙes mebmeeOeveeW keâes Ûeueeves kesâ 
efueS FËOeve efkeâ DeeJeMkeâlee nesleer nw, Dele: efJekeâuhe (a) DevÙe mes 
efYeVe nw~ 
51.  A and B start cycling from the same point. A 

cycles 8 km towards west, then turns to her 
right and then cycles 7 km. B cycles 3 km 
towards east, then turns towards north and 
cycles for 4 km. Then turns towards westand 
cycles for 15 km, then turns to her right and 
cycles 3 km. Where is B now with respect of A? 

  A Deewj B Skeâ ner efyebog mes meeFefkeâue Ûeueevee Meg™ keâjleer 
nQ~ A 8 efkeâceer heef§ece keâer Deesj meeFefkeâue Ûeueekeâj peeleer 
nw, efHeâj Deheveer oeFË Deesj cegÌ[ peeleer nw Deewj efHeâj 7 
efkeâceer meeFefkeâue Ûeueeleer nw~ B 3 efkeâceer hetJe& keâer Deesj 
peeleer nw, efHeâj Gòej keâer Deesj cegÌ[leer nw Deewj 4 efkeâceer 
lekeâ meeFefkeâue Ûeueeleer nw~ Gmekesâ yeeo heef§ece keâer Deesj 
cegÌ[ peeleer nw Deewj 15 efkeâceer keâer otjer leÙe keâjleer nw, efHeâj 
Deheveer oeFË Deesj cegÌ[leer nw Deewj 3 efkeâceer lekeâ meeFefkeâue 
Ûeueeleer nw~ B DeYeer A mes keâneb nw? 

 (a) 4 km eastwards /4 km hetJe& keâer Deesj  
 (b) 26 km eastwards /26 km hetJe& keâer Deesj   
 (c) 4 km westwards /4 km heef§ece keâer Deesj 
  (d) 26 km westwards /26 km heef§ece keâer Deesj 
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Ans. (c) : ØeMveevegmeej, A Deewj B keâe heLe DeejsKe efvecveJeled nesiee-  

 
Dele: GheÙeg&òeâ mes mhe° nw efkeâ B, A mes 4km heef§ece efoMee ceW nw~   
52.  The value of (0. 12 × 0.12 × 0.12) × (1.32 × 1.32 

× 1.32)/ (0.52 × 0.52) is.  
  (0.12 × 0.12 × 0.12) × (1.32 × 1.32 × 1.32)/(0.52 

× 0.52) keâe ceeve nesiee : 
 (a) 0.187 (b) 0.0187  
 (c) 0.0147 (d) 0.147 

Ans. (c) : 
( ) ( )0.12 0.12 0.12 1.32 1.32 1.32

0.52 0.52

× × × × ×

×
 

0.12 0.12 0.12 0.33 0.33 1.32

0.13 0.13

× × × × ×
×

 

 = 0.0147 

53.  The book ‘‘We, the People’’ was written by?  

  ‘‘Jeer o heerhegue’’ hegmlekeâ efkeâmeves efueKeer nw? 
 (a) Nani Palkhivala /veerveer heeuekeâerJeeuee  
 (b) Jawaharlal Nehru/ peJeenjueeue vesn™  
 (c) Ramchandra / jeceÛebõ  
 (d) Khushwant Singh /KegMeJeble efmebn  
Ans. (a) : ‘‘Jeer o heerheue’’ veeveer S. heeuekeâerJeeuee peer keâer Øeefmeæ 
hegmlekeâ nw~ Fmekeâe Meer<e&keâ YeejleerÙe mebefJeOeeve keâer ØemleeJevee kesâ ØeejbefYekeâ 
MeyoeW mes efueÙee ieÙee nw~  
µ ØecegKe hegmlekesâ SJeb uesKekeâ  
hegmlekeâ     uesKekeâ  
Devenwhheer FefC[Ùee   - ueeuee ueepehele jeÙe  
ef[mkeâJejer Dee@Heâ FefC[Ùee  -  peJeenjueeue vesn™  
oer pepeceWš   -  kegâueoerhe veÙÙej  
hee@efueefškeäme   -  Dejmlet 
54.  Find the lowest common multiple of 42, 64 and 

80. 

  42, 64 Deewj 80 keâe ueIegòece meceeheJelÙe& %eele keâerefpeÙes~ 
 (a) 6270 (b) 6720  
 (c) 5270 (d) 5720 

Ans. (b) : 42 = 2 × 3 × 7  
64 = 2 × 2 × 2 × 2 × 2 × 2  
80 = 2 × 2 × 2 × 2 × 5 
Dele: 42, 64 Je 80 keâe ue] me] = 2×2×2×2×2×2×3×7×5 

              = 6720  
55.  It today is Monday, then after 65 days, it would 

be a. 

  Ùeefo Deepe meesceJeej nw, lees 65 efoveeW kesâ yeeo keâewve mee 
efove nesiee: 

 (a) Thursday/ ieg®Jeej  (b) Wednesday/yegOeJeej   
 (c) Tuesday/cebieueJeej  (d) Saturday/MeefveJeej  

Ans. (b): 65 efove ceW efJe<ece efoveeW efkeâ mebKÙee 
65

2
7

= = efJe<ece efove 

Dele: Ùeefo Deepe meesceJeej nw lees Deepe kesâ 65 efove yeeo Deeves Jeeuee 
efove = meesceJeej + 2 efove = yegOeJeej   

56.  If 5#1 = 20; 11#4 = 35; 9#3 = 30; Then find the 
value of 10#7 = ? 

  5 # 1 = 20; 11 # 4 = 35; 9 # 3 = 30; lees 10 # 7 = ?. 

? keâe ceeve %eele keâerefpeS~  
 (a) 3 (b) 6  

 (c) 17 (d) 15 

Ans. (d) : efpeme Øekeâej,  
 5 # 1 = 20 ⇒ (5 – 1) × 5 = 20  
 11 # 4 ⇒ (11 – 4) × 5 = 35 

leLee, 
 9 # 3 ⇒ (9 – 3) × 5 = 30 

Gmeer Øekeâej,  
 10 # 7 ⇒ (10 – 7) × 5 = 15 

Dele: 10 # 7 = 15 nesiee~ 
57.  _____Curve is a compound curve consists of two 

curves that are joined at a point of tangency and 
are located on the same side of a common 
tangent. 

  ______ Je›eâ (keâJe&) Skeâ Ùeewefiekeâ Je›eâ nw efpemeceW oes Je›eâ 
nesles nQ pees mheMe&jsKee kesâ Skeâ efyebog hej pegÌ[les nQ Deewj Skeâ 
meceeve mheMe& jsKee kesâ Skeâ ner lejHeâ efmLele nesles nQ~  

 (a) dupont/ [Ÿeghee@vš (b) bevel/yesJesue   
 (c) bullnose/ yegueveespe  (d) ogee/odefJepÙee (Deesieer)  
Ans. (d) : odefJepÙee (Deesieer) Je›eâ (keâJe&) Skeâ Ùeewefiekeâ Je›eâ nw efpemeceW 
oes Je›eâ nesles nQ pees mheMe&jsKee kesâ Skeâ efyebog hej pegÌ[les nQ Deewj Skeâ 
meceeve mheMe& jsKee kesâ Skeâ ner lejHeâ efmLele nesles nQ~ 
58.  Who among the following was appointed as the 

25
th

 Governor of RBI in December, 2018? 

  efvecveefueefKele ceW mes efkeâmes efomebyej 2018 ceW YeejleerÙe 
efjpeJe& yeQkeâ kesâ 25 JeW ieJe&vej kesâ ™he ceW efveÙegòeâ efkeâÙee 
ieÙee Lee? 

 (a) Urjit Patel/ Gefpe&le hešsue 
  (b) Shaktikanta Das/ Meefòeâkeâeble oeme   
 (c) Piyush Goyal/heerÙet<e ieesÙeue 
  (d) Hasmukh Adhia/ nmecegKe DeefOeÙee  
Ans. (b) : efomecyej 2018 ceW YeejleerÙe efjpeJe& yeQkeâ kesâ 25 JeW ieJeve&j 
kesâ ™he ceW ‘Meefòeâkeâeble oeme’ keâes efveÙegòeâ efkeâÙee ieÙee Lee~ Gefpe&le hešsue 
YeejleerÙe efjpeJe& yeQkeâ kesâ 24 JeW ieJeve&j Les~ 
µ YeejleerÙe efjpeJe& yeQkeâ -  
⇒ mLeehevee - 1 DeØewue, 1935 
⇒ cegKÙeeueÙe - cebgyeF&  
⇒ Jele&ceeve ieJeve&j - Meefòeâkeâeble oeme   
59.  The line graph shows the changes (in %) in the 

stock price of two firms A and B from the date 
of issue. If both the stocks were issued ìììì 100, 
after 3 years, Stock A was cheaper than Stock 
B by______. 

  }eFve «eeHeâ Heâce& A Deewj B kesâ mše@keâ cetuÙeeW ceW peejer 
keâjves keâer efleefLe mes yeoueeJe (% ceW) keâes oMee&les nQ, Ùeefo 
oesveeW mše@keâ 100 ®heS hej peejer efkeâS ieS Les, lees leerve 
meeue yeeo mše@keâ A, mše@keâ B mes _____ memlee Lee~  
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 (a) 2.50% (b) 25%  
 (c) 15% (d) 12.50% 

Ans. (a) : henues Je<e& kesâ Deble ceW mšekeâ A efkeâ keâercele  

 
130

100
100

= ×  

leLee mšekeâ B = 
( )100 20

100
100

+
× = `120 

otmejs Je<e& kesâ Deble ceW,  

 mšekeâ A keâer keâercele 
( )100 0

130
100

+
= × = `130   

 mšekeâ B keâer keâercele 
( )100 25

120
100

+
= × = `150 

leermejs Je<e& kesâ Deble ceW,  

 mšekeâ A keâer keâercele 
( )100 20

130
100

−
= × = `117 

leLee,  

 mšekeâ B keâer keâercele 
( )100 20

150
100

−
= × = `120 

Dele: leermejs Je<e& kesâ Deble ceW mšekeâ A Je B kesâ keâercelees ceW Deblej = 

120 – 117 = `3 

DeYeer° ØeefleMele 
3

100 2.5%
120

= × =  

60.  Which of the following is a base unit? 

  efvecveefueefKele ceW mes keâewve mee yesme Ùegefveš nw? 
 (a) candela/keQâ[uee  (b) hertz/nšd&pe  
 (c) radian/jsef[Ùeve  (d) ohm/Deesce 
Ans. (a) : S.I heæefle ceW cetue cee$ekeâ keâer mebKÙee meele nw,  
Yeeweflekeâ jeefMe   cee$ekeâ  
uecyeeF&   - ceeršj  
õJÙeceeve   - efkeâuees«eece  
meceÙe  - meskebâ[  
efJeÅegle Oeeje  - SefcheÙej  
pÙeesefle-leer›elee  - kewâC[suee  
heoeLe& keâe heefjCeece  - ceesue   
61.  In an isometric drawing, the object’s vertical 

are drawn vertically, and the horizontal lines in 
the width and depth planes are shown at_____to 
the horizontal. 

  Skeâ DeeFmeescesefš^keâ [^eFbie ceW, Jemleg keâer TOJee&Oej jsKeeSb 
uebyeJele KeeRÛeer peeleer nQ Deewj ÛeewÌ[eF& Je ienjeF& keâer 
jsKeeSb ______ hej #eweflepe ceW oMee&F& peeleer nw~  

 (a) 60 degrees/60 ef[«eer  (b) 30 degrees/30 ef[«eer  
 (c) 45 degrees/45 ef[«eer  (d) 90 degrees/90 ef[«eer 

Ans. (b) : Skeâ DeeFmeescesefš^keâ [^eFbie ceW, Jemleg keâer TOJee&Oej jsKeeSb 
uebyeJele KeeRÛeer peeleer nw Deewj ÛeewÌ[eF& Je ienjeF& keâer jsKeeSb 30° hej 
#eweflepe oMee&F& peeleer nw~ ef$eDeeÙeeceer, meceefceleerÙe ÂMÙe yeveeves ceW Ùes 
keâesCe yeÌ[er Yetefcekeâe efveYeeles nw~ pewmes keäÙetye (Ieve)~ 
62.  _____refers to the spacing between the 

characters of a font. 
  _______ ]Heâe@vš kesâ kewâjskeäšj kesâ yeerÛe keâer efjefòeâ (Keeueer) 

mLeeve keâes meboefYe&le keâjlee nw~  
 (a) Tracking/ š^wefkebâie 
  (b) Kerning/ keâefveËie   
 (c) Gradient/ «esef[Sbš 
  (d) Tessellation/Ûeewkeâesj 
Ans. (b) : keâefveËie Heâe@vš kesâ kewâjskeäšj kesâ yeerÛe keâes efjefòeâ (Keeueer) 
mLeeve keâes meboefYe&le keâjlee nw~   
63.  – 150° Celsius = ____ Fahrenheit  

  –150º mesefumeÙeme = _____ HeâejsveneFš  
 (a) –238º (b) –212º  
 (c) –418º (d) –373º 

Ans. (a) : ef[«eer mesefumeÙeme keâes Heâe@jsveneFš ceW yeoueves keâe met$e:- 
9

º F ºC 32
5

= × +  

Ùee 
9

F C 32
5

= × +  

efoÙee nw, C = –150 

9
F 150 32

5
= − × +  

F = –270 + 32   
F = – 238 

Dele: nce keân mekeâles nQ efkeâ –150ºC leehe –238ºF kesâ meceleguÙe nw~  
64.  – 7 (2x + 4y) – 2 (x – 2y) is equal to.  

  –7(2x + 4y) –2(x – 2y) keâe ceeve nesiee:  
 (a) –4(2x + 3y) (b) –8(2x + 3y)  

 (c) –8(2x –3y) (d) –3(2x + 3y) 

Ans. (b) : –7(2x + 4y) – 2(x – 2y)  
= – 14x – 28y – 2x + 4y 

= – 16x – 24y  

= – 8(2x + 3y)   
65.  ____is a penicillin antibiotic that fights bacteria. 

  ______ Skeâ hesefveefmeefueve SbšeryeeÙeesefškeâ nw pees 
yewkeäšerefjÙee mes ueÌ[lee nw~  

 (a) Ibuprofen /DeeFyetØeesHesâve 
  (b) Clonazepam/ keäueesvee]pesheece   
 (c) Atorvastatin/ SšesjJeemšsefšve  
 (d) Amoxicillin/ Sceesefkeämeefmeefueve  
Ans. (d) : Sceesefkeämeefmeefueve yewkeäšerefjÙeue FbHesâkeäMeve kesâ Fueepe ceW 
Fmlesceeue neslee nw~ Ùen oJeeDeeW kesâ mecetn hesefveefmeefueve šeFhe 
SbšeryeeÙeesefškeâ mes mebyebefOele [^ie nw~ Fme oJee keâe Fmlesceeue yeÇeWkeâeFefšme 
efveceesefveÙee Deewj keâeve, veekeâ, ieues, lJeÛee Ùee Ùetefjvejer š^skeäš kesâ Fueepe 
ceW Sceesefkeämeefmeefueve keâe GheÙeesie efkeâÙee peelee nw~    
66.  Find the missing number  
  De%eele (?) mebKÙee yeleeSb : 
  0.088/(?) = 0.02 
 (a) 4.2 (b) 3.4  
 (c) 4.4 (d) 3.2 
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Ans. (c) : 
0.088

0.02
(?)

=  

0.088
(?) 4.4

0.02
= =  

67.  One or two statements are given followed by 
two or more assumptions I and II. You have to 
consider the statement to be true, even if it 
seems to be at variance from commonly known 
facts. You have to decide which of the given 
assumptions can definitely be drawn from the 
given statements. 

  Statement : ‘You have to give daily Rs. 100 
pocket money to our son when he starts to go to 
college.’ Mother instructing her husband. 

  Assumptions: 
  I. College going students have some daily 

expenses. 
  II. There is no need to give pocket money to 

students before they start to college. 
  Skeâ Ùee oes keâLeve efoS ieS nQ~ Gvekesâ yeeo oes Ùee DeefOekeâ 

OeejCeeSb I Deewj II oer ieF& nQ~ Deehekeâes keâLeve keâes melÙe 
ceevevee nw, Yeues ner Ùes meeceevÙe ™he mes %eele leLÙeeW mes 
efYeVe neW~ DeehekeâeW Ùen leÙe keâjvee nw efkeâ efoS ieS keâLeve 
ceW mes keâewve meer OeejCee efveef§ele ™he mes lewÙeej efkeâÙee pee 
mekeâleer nw~  

  keâLeve: ‘peye nceeje yesše keâe@uespe peevee Meg™ keâjsiee lees 
Deehekeâes Gmes jespeevee 100 ®heÙes keâer hee@kesâš ceveer osveer 
nesieer’~ Deheves heefle keâes efnoeÙele osleer ceeB~ 

  OeejCeeSb:  
  I. keâe@uespe peeves Jeeues Úe$eeW kesâ kegâÚ owefvekeâ KeÛe& nesles nQ 
  II. ueÌ[keâeW keâes leye lekeâ keâesF& hee@kesâšceveer osves keâer 

pe™jle veneR peye lekeâ efkeâ Jes keâe@uespe peevee Meg™ veneR 
keâjles~  

 (a) Both I and II are implicit 
  OeejCee I Deewj II oesveeW efveefnle nQ 
 (b) Neither I nor II is implicit  
  ve lees I Deewj ve ner II efveefnle nw  
 (c) Only assumption I is implicit  
  kesâJeue OeejCee I efveefnle nw 
 (d) Only assumption II is implicit  
  kesâJeue OeejCee II efveefnle nw 
Ans. (c) : GheÙeg&òeâ efoÙes ieÙes keâLeve kesâ Devegmeej efmeHe&â OeejCee (I) 

efveef§ele ™he mes lewÙeej efkeâÙee pee mekeâlee nw~ 

68.  The square root of )−(10 + 25)(12 49  is  

  (10 + 25)(12 – 49) keâe Jeie&cetue nesiee: 

 (a) 4 3  (b) 5 3   
 (c) 3 3  (d) 2 3  

Ans. (b) : ( )( )10 25 12 49+ − keâe Jeie&cetue uesves hej  

( )( )10 5 12 7= + −  

= 15 5×  

5 3 5= × ×  

= 5 3  

69.  P can finish a task in 24 days and Q can do the 
same task in 36 days. Q worked for 12 days and 
left the job. In how many days, P alone can 
finish the remaining task? 

  P efkeâmeer keâece keâes 24 efoveeW ceW hetje keâj mekeâlee nw Deewj 
Q Gmeer keâece keâes 36 efoveeW ceW keâj mekeâlee nw~ Q ves 12 
efoveeW lekeâ keâece efkeâÙee Deewj veewkeâjer ÚesÌ[ oer~ P Dekesâuee 
yeekeâer keâe keâece efkeâleves efovees ceW hetje keâj mekeâlee nw? 

 (a) 12 days/efoveeW 
 (b) 16 days/efoveeW  
 (c) 60 days/efoveeW  
 (d) 14 days/efoveeW 

Ans. (b) : Q Éeje 12 efove ceW efkeâÙee ieÙee keâeÙe& 
12 1

36 3
= = Yeeie  

yeÛee Mes<e keâeÙe& 
1 2

1
3 3

= − = Yeeie  

∵ P Éeje 1 keâece keâjves ceW ueiee meceÙe = 24 efove, P Éeje 
2

3
 Yeeie 

keâece (Mes<e keâeÙe&) keâjves ceW ueiee meceÙe = 24 × 
2

3
 

   =  16 efove  
70.  In the following question, which one set of 

letters when sequentially placed at the gaps in 
the given letter series shall complete it? 

  efvecveefueefKele ØeMve ceW, oer ieF& De#ej ßeb=KeueeDeeW ceW pees 
Deblejeue (iewhe) nQ, GveceW efJekeâuhe ceW efoS ieS De#ejeW 
mecetneW ceW mes keâewve Skeâ Ssmee mecetn nw efpemes jKee peeS 
Me=bKeuee hetjer nes peeSieer? 

  ab_ab8_a8b_6da5_c4de_ 
 (a) 9ccb3 (b) c9a3b  
 (c) c9a3b (d) 9cab3 
Ans. (a) : oer ieÙeer De#ej ßeb=Keuee efvecveJele nw-   
ab9ab8ca8bc6da5bc4de3 

Dele: efJekeâuhe (a) mener nesiee~  
71.  What is the relative density of a solid of mass 

75 gm which when fully immersed in water 
weighs 25 gm? 

  75 «eece õJÙeceeve kesâ Skeâ "esme keâe meehes#e IevelJe keäÙee 
nesiee, Ùeefo heeveer ceW hetjer lejn mes [tyes nesves hej Gmekeâe 
Yeej 25 «eece neslee nw? 

 (a) 1.5 (b) 0.8  
 (c) 1.6 (d) 2.5 
Ans. (a) : "esme keâe õJÙeceeve = 75 gm 

 [tyeves hej "esme keâe Yeej = 25 gm 

 "esme Éeje efJemLeeefhele peue keâer cee$ee (75-25) = 50 gm 

 Deehesef#ekeâ IevelJe = 
"ems e keâe õJÙeceeve

"esme Éeje eJf emLeeehf ele peue keâer cee$ee
 

 = 
75 3

1.5
50 2

= =   

72.  In the following figure, the triangle represents 
fashion designers, the square represents 
trekkers, the circle represents Indians and the 
rectangle represents mothers. Which set of 
letters represents mothers who are either 
trekkers or Indians? 
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  efvecveefueefKele Deeke=âefle ceW, ef$ekeâesCe HewâMeve ef[peeFvejeW keâe 
ØeefleefveefOelJe keâjlee nw, Jeie& heJe&leejesner keâe ØeefleefveefOelJe 
keâjlee nw, Je=le YeejleerÙeeW keâe ØeefleefveefOelJe keâjlee nw Deewj 
DeeÙele ceeleeDeeW keâe ØeefleefveefOelJe keâjlee nw~ De#ejeW keâe 
keâewve mee mesš Gve ceeleeDeeW keâe ØeefleefveefOelJe keâjlee nw pees 
Ùee lees heJe&leejesner nw Ùee YeejleerÙe nQ? 

   
 (a) FGHI (b) DGF  
 (c) CIDE (d) HIC 

Ans. (a) :  

   
GheÙeg&òeâ mes mhe° nw efkeâ De#ejeW keâe mecetn FGHI Gve ceeleeDeeW keâe 
ØeefleefveefOelJe keâjlee nw pees Ùee lees heJe&leejesner nw Ùee YeejleerÙe nw~  
73.  Who among the following besides Virat Kohli 

won the Rajiv Gandhi Khel Ratna award in 
2018? 

  efvecveefueefKele ceW mes efkeâmeves efJeješ keâesnueer kesâ DeueeJee 
2018 ceW jepeerJe ieebOeer Kesue jlve hegjmkeâej peerlee? 

 (a) Devendra Jhajharia/ osJeWõ PeebPeefjÙee 
 (b) Smriti Mandhana/ mce=efle cebOeevee   
 (c) Mirabai Chanu/ ceerjeyeeF& Ûeevet  
 (d) Satish Kumar/ meleerMe kegâceej  
Ans. (c) : Je<e& 2018 ceW efJeješ keâesnueer Je ceerjeyeeF& Ûeevet keâes 
jepeerJe ieebOeer Kesue jlve hegjmkeâej mes mecceeefvele efkeâÙee ieÙee Lee~ jepeerJe 
ieebOeer Kesue jlve hegjmkeâej keâer mLeehevee 1991-92 ceW keâer ieF& Leer~ 
Melejbpe «es[ceemšj efJeÕeveeLeve Deevebo Ùen hegjmkeâej heeves Jeeues henues 
efKeueeÌ[er Les~  
µ Deiemle 2021 ceW Yeejle mejkeâej ves Yeejle ceW Kesue kesâ #es$e ceW efoS 
peeves Jeeues Fme meJeexÛÛe hegjmkeâej (jepeerJe ieebOeer Kesue jlve hegjmkeâej) 
keâe veece yeoue keâj Deye ‘cespej OÙeeveÛebo Kesue jlve hegjmkeâej’ keâj 
efoÙee~   
74.  Ustad Amjad Ali Khan is famous for playing 

which of the following instruments? 

  Gmleeo Decepeo Deueer Keeve FveceW mes efkeâme JeeÅeb$e kesâ 
Øeefmeæ Jeeokeâ nQ? 

 (a) Harmonium/nejceesefveÙece (b) Tabla/leyeuee   
 (c) Sarod/mejeso  (d) Flute/yeebmegjer  
Ans. (c) : Yeejle kesâ ØecegKe JeeÅeÙeb$e Deewj Gvekesâ Jeeokeâ  
JÙeefòeâ keâe veece    mebyebefOele JeeÅeÙeb$e 
Decepeo Deueer Keeb  - mejeso  
efMeJekegâceej Mecee&   - mebletj  
efyeefmceuuee Keeb   - MenveeF&  
nefjØemeeo ÛeewjefmeÙee   - yeeBmegjer  
peeefkeâj ngmewve   - leyeuee   

75.  Katal is the unit of_______. 

  keâleeue ______ keâer FkeâeF& nw 
 (a) catalytic activity/kewâšsefueefškeâ SefkeäšefJešer  
 (b) stress/mš^sme   
 (c) capacitance/ kewâefhemešvme  
 (d) entropy/Sbš^e@heer  
Ans. (a) : keâleeue kewâšsefueefškeâ SefkeäšefJešer keâer FkeâeF& nw~ 1 keâleeue  
1 ceesue/meskesâC[ kesâ yejeyej neslee nw~   
76.  The_____process loads the operating system 

into main memory or the random access 
memory (RAM) installed on your computer. 

  ______ Øeef›eâÙee Deehekesâ keâchÙetšj hej mLeeefhele 
Dee@hejsefšbie efmemšce keâes cegKÙe cesceesjer Ùee jQ[ce Skeämesme 
cesceesjer (RAM) ceW uees[ keâjleer nw~  

 (a) Index/Fb[skeäme  (b) format/Heâe@cexš   
 (c) boot/yetš  (d) map/cewhe  
Ans. (c) : yetbš (Boot) Øeef›eâÙee Deehekesâ keâchÙetšj hej mLeeefhele 
Dee@hejsefšbie efmemšce keâes cegKÙe cesceesjer Ùee jQ[ce Skeämesme cesceesjer 
(RAM) ceW uees[ keâjleer nw~ keâchÙetšj jermšeš& keâjves hej yetefšbie 
Øeef›eâÙeeb hegve: Ûeeuet nes peeleer nw~ yetefšbie kesâ oewjeve keâchÙetšj ne[&JesÙej 
keâer peebÛe keâer peeleer nw~   
77.  If x = 15, y = 20 and z = 10 then (5x – 15)/(y + z) 

is equal to. 

  Ùeefo x = 15, y = 20 Deewj z = 10 lees (5x – 15)/(y + z) 

keâe ceeve ______ kesâ yejeyej nesiee: 
 (a) 2 (b) 3  

 (c) 4 (d) 6 

Ans. (a) : efoÙee nw-  
x = 15, y = 20 leLee z = 10 

lees,  
5x 15 5 15 15 60

2
y z 20 10 30

− × −
= = =

+ +
 

78.  Two trains, X and Y, travel from A to B at 
average speeds of 80 km/hr and 90 km/hr 
respectively. If X takes an hour more than Y 
for the journey, then the distance between A 
and B is_______. 

  X Deewj Y oes jsueieeefÌ[Ùeeb nQ pees A mes B lekeâ ›eâceMe: 80 

efkeâceer/Iebše Deewj 90 efkeâceer/Iebše keâer Deewmele ieefle mes 
Ûeueleer nQ~ Ùeefo X keâes Ùee$ee hetjer keâjves kesâ efueS Y mes 
Skeâ Iebše DeefOekeâ meceÙe ueielee nw, lees A Deewj B kesâ 
yeerÛe otjer _______ nw~  

 (a) 630 km (b) 360 km  

 (c) 720 km  (d) 540 km  

Ans. (c) : ceevee A Deewj B kesâ yeerÛe keâer kegâue otjer = aefkeâceer 
lees ØeMveevegmeej,   

 
a a

1
80 90

− =  

 
9a 8a

1
720

−
=  

Dele: A Deewj B kesâ yeerÛe keâer otjer = a = 720 efkeâceer] 
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79.  _____radiation has limited penetration ability 
and is usually stopped by clothing. 

  ______ jsef[ÙesMeve keâer ØeJesMe keâer meerefcele #ecelee keâes 
Deeceleewj hej DeeJejCe Éeje jeskeâe peelee nQ~ 

 (a) Neutron/vÙetš^e@ve  (b) Beta/yeerše   
 (c) Gamma/ieecee (d) Alpha/DeuHeâe 
Ans. (d) : ‘DeuHeâe’ jsef[SMeve keâer ØeJesMe keâer meerefcele #ecelee keâes 
Deeceleewj hej DeeJejCe Éeje jeskeâe peelee nw~ Ùes efkeâjCeW yengle keâcepeesj 
nesleer nQ~ peneB mes Ùes efvekeâue jner neW JeneB keâeiepe keâe šgkeâÌ[e jKeves hej 
Yeer Ùen Gmekeâes Yeso veneR mekeâleer~   
80.  Find the work done if a force of 1200 N pushes 

a trolley of mass 45 kg by 30 m. 
  Ùeefo 1200N keâe yeue 45 efkeâuees«eece õJÙeceeve keâer Skeâ 

š^e@ueer keâes 30 ceeršj Oekesâuelee nw, lees efkeâS ieS keâeÙe&keâe 
ceeve yeleeSb~  

 (a) 42 kJ (b) 24 kJ  
 (c) 54 kJ  (d) 36 kJ  

Ans. (d) : efoÙee nw,  
yeue (F) = 1200N  
õJÙeceeve (m) = 45kg 

efJemLeeheve (S) = 30 m 

efkeâÙee ieÙee keâeÙe& = yeue × efJemLeeheve  
W = F × S  
W = 1200N × 30m 
W = 36000Nm 
W = 36000J  
W = 36 KJ (1KJ = 1000 × J)  

81.  Rearrange the parts of the sentence in correct 
order to form a sentence. 

  Skeâ JeekeäÙe keâe efvecee&Ce keâjves kesâ efueS veerÛes efoS 
JeekeäÙeebMeeW keâes GefÛele ›eâce ceW jKeW  

  If you've ever read a  
  X - That language and those sections 
  Y - Case file, you'll understand the feeling  
  Z - Of helplessness that comes with 
 (a) ZYX (b) YZX  
 (c) XZY (d) YXZ 
Ans. (b) : Skeâ JeekeäÙe keâe efvecee&Ce keâjves kesâ efueS veerÛes efoS 
JeekeäÙeebMeeW keâe GefÛele ›eâce – YZX 
82.  A certain amount of principal fetched a total 

simple interest of `̀̀̀4,800 at the rate of 12% per 
year, in 5 years. What is the principal amount? 

  Skeâ efveef§ele jeefMe hej 12³ ØeefleJe<e& yÙeepe keâer oj mes 5 
Je<eeX ceW kegâue `̀̀̀4,800 keâe meeOeejCe yÙeepe Øeehle ngDee~ 
cetueOeve jeefMe keäÙee nw? 

 (a) `15,000 (b) `20,000  
 (c) `8,000 (d) `18,000 
Ans. (c) : ceevee cetueOeve = `x  
lees  

100

× ×
=

cetueOeve  oj  meceÙemee.yÙee.  

x 12 5
4800

100

× ×
=  

4800 100
x

12 5

×
= =

×
`8000 

Dele: cetueOeve x = `8000 

83.  Who among the following scientists discovered 
radium, a radioactive element? 

  FveceW mes efkeâme Jew%eeefvekeâ ves jsef[ÙeesOeceea lelJe jsef[Ùece keâer 
Keespe keâer Leer? 

 (a) Amedeo Avogadro/ Decesef[Ùees SJeesies[^es 
 (b) Marie Curie/ cesjer keäÙegjer 
 (c) Louis Pastuer /}gF& hee§ej  
 (d) Leonhard Euler/ efueDeesvee[& Ùeguej  
Ans. (b) : jsef[ÙeesOeceea lelJe, jsef[Ùece keâer Keespe efheÙejs Deewj cewjer 
keäÙetjer ves mebÙegòeâ ™he mes efomecyej 1898 ceW keâer Leer~ jsef[Ùece Skeâ 
jemeeÙeefvekeâ lelJe nw efpemekeâes Ra mes ØeoefMe&le efkeâÙee peelee nw Deewj 
Fmekeâer hejceeCeg mebKÙee 88 nw~  

84.  The value of
121 × 196

49
 is. 

  
121 × 196

49
keâe ceeve nesiee: 

 (a) 11 (b) 44  
 (c) 22 (d) 33 

Ans. (c) : 
121 196

49

×
 

11 14
22

7

×
= =   

85.  Find the power of a pump if it can lift 750 litres 
of water by 150 m in 25 minutes. (Assume 75% 
efficiency and use g = 10 m/s

2
 and density of 

water as 1g/cm
3
) 

  Skeâ hebhe keâer Meefòeâ keâe helee ueieeSb Deiej Ùen 25 efceveš 
ceW 750 ueeršj heeveer keâes 150 ceeršj keâer TbÛeeF& lekeâ 
henbgÛee mekeâlee nw~ (o#elee keâes 75³ ceeveW Deewj g = 10 

m/s
2
 Deewj heeveer keâe IevelJe 1g/cm

3 jKeW) 
 (a) 1.5kW (b) 1kW  
 (c) 1.2 kW (d) 2kW  

Ans. (b) : hebhe efkeâ Meefòeâ 
efkeâÙee ieÙee keâgue keâeÙe& 

meceÙe
=  

ØeMveevegmeej,  

 hebhe efkeâ Meefòeâ 
1 750 10 150 100

25 60 75

× × ×
= ×

×
 

  = 1000 petue/meWkeâC[ 
  = 1 efkeâueesJeeš 
86.  Which of the following gases is a colourless, 

flammable, and highly toxic gas? 

  efvecveefueefKele ceW mes keâewve meer iewme jbienerve, pJeueveMeerue 
Deewj DelÙeefOekeâ efJe<ewueer iewme nw? 

 (a) Arsine/Deeefme&ve  
 (b) Carbon dioxide/ keâeye&ve [eFDee@keämeeF[   
 (c) Methane/ceerLesve  
 (d) Nitrogen oxide/ veeFš^espeve Dee@keämeeF[  
Ans. (a) : Deeefme&ve Skeâ Dekeâeye&efvekeâ Ùeewefiekeâ nw efpemekeâe jemeeÙeefvekeâ 
met$e AsH3 nw~ Ùen Skeâ jbienerve, pJeueveMeerue Deewj DelÙeefOekeâ efJe<ewueer 
iewme nw~ Deeefme&ve keâe ØeÙeesie DeOe&Ûeeuekeâ, Oeeleg efjHeâeFvejer GÅeesieeW ceW 
Deewj ef›eâmšue efvecee&Ce ceW Deeefme&ve keâe ØeÙeesie [esefhebie SpeWš kesâ ™he cebs 
efkeâÙee peelee nw~   
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87.  A can complete a piece of task in 10 hours; B and 
C together can complete it in 12 hours, while A 
and C together can complete it in 6 hours. How 
long will B alone take to complete it? 

  A efkeâmeer keâece keâes 10 Iebšs ceW hetje keâj mekeâlee nQ; B Deewj 
C efceuekeâj Gmeer keâece keâes 12 Iebšs ceW hetje keâj mekeâles nQ, 
peyeefkeâ A Deewj C efceuekeâj Gme keâece keâes 6 Iebšs ceW hetje 
keâj mekeâles nQ lees B keâes Gme keâece keâes hetje keâjves ceW 
efkeâlevee meceÙe ueiesiee? 

 (a) 50 hours/Iebšs  (b) 30 hours/Iebšs 
 (c) 60 hours/Iebšs (d) 40 hours/Iebšs 
Ans. (c) :  

 
 A keâer keâeÙe& #ecelee = 6  

  A + C keâer keâeÙe& #ecelee = 10  

 C keâer keâeÙe& #ecelee  = 10-6=4 

∵ B + C keâer keâeÙe& #ecelee  = 5  

 B keâer keâeÙe& #ecelee = 5 – 4 = 1 

Dele: B Éeje kegâue keâeÙe& meceehle keâjves ceW ueiee meceÙe = 
60

1
 

     = 60 Iebše 
88.  How many medals did India win in the Jakarta 

Palembang 2018 Asian Games? 

  pekeâelee& hewuescyeQie 2018 SefMeÙeeF& KesueeW ceW Yeejle ves 
efkeâleves heokeâ peerles? 

 (a) 21 (b) 69  
 (c) 101 (d) 160 

Ans. (b) : pekeâelee& hewuescyeQie 2018 SefMeÙeeF& KesueeW ceW Yeejle ves 
ØeoMe&ve keâjles ngS kegâue 69 heokeâ (15 mJeCe&, 24 jpele, 30keâebmÙe) 
osMe kesâ veece efkeâÙes~ SefMeÙeeF& KesueeW keâes SefMeÙee[ veece mes Yeer peevee 
peelee nw~ Fmekeâe DeeÙeespeve ØelÙeskeâ 4 Je<e& ceW efkeâÙee peelee nw~   
89.  594 mm × 841 mm are the dimensions of_____size 

paper. 
  594 efceceer × 841 efceceer ______ heshej keâe meeFpe nw~  
 (a) A3 (b) A1  
 (c) A0 (d) A2 
Ans. (b) : 594 efceceer × 841 efceceer A2 heshej keâe meeFpe nw, DevÙe 
heshej meeFpe Fme Øekeâej nw – 
 A0 = 1189 × 841 mm 
 A3 = 420 × 297 mm 
 A4 = 297 × 210 mm 
 A5 = 210 × 148 mm  
90.  In a certain gear train, the driver has 32 teeth 

while the follower has 20 teeth. For every, 25 
turns of the driver the follower turns____times. 

  Skeâ efveef§ele efieÙej š^sve cebs Ûeeuekeâ kesâ 32 oebles nQ, 
peyeefkeâ Heâe@ueesJej kesâ 20oebles nQ~ Ûeeuekeâ kesâ ØelÙeskeâ 25 
šve& hej Heâe@ueesJej ______ yeej yeoue peelee nw~  

 (a) 50 (b) 20  
 (c) 40 (d) 30 
Ans. (c) : Ûeeuekeâ efieÙej keâer oeBlees keâer mebKÙee (T1) · 32 

 HeâeueesJej kesâ oebleeW keâer mebKÙee (T2) · 20 

efieÙej Devegheele · 1 1 2

2 2 1

D T N

D T N
= =  

  2N32

20 25
= =  

     N2 = 40 
peneB,  N1 – Ûeeuekeâ efieÙej keâer ieefle  
 N2 – HeâeueesJej keâer ieefle  
 D1 – Ûeeuekeâ efieÙej keâe JÙeeme 
 D2 –HeâeueesJej keâe JÙeeme  
91.  A rocket travels 108 m in 0.3 seconds. Find its 

speed in km/hr. 
  Skeâ je@kesâš 0.3 meskebâ[  ceW 108 ceeršj keâer Ùee$ee keâjlee 

nw~ efkeâceer/Iebše ceW Fmekeâer ieefle %eele keâjW~  
 (a) 1296 km/h/efkeâceer/Iebše (b) 6300 km/h/efkeâceer/Iebše  
 (c) 1692 km/h/efkeâceer/Iebše (d) 3600 km/h/efkeâceer/Iebše 
Ans. (a) : meceÙe = 0.3 meW. 
 leÙe otjer = 108 ceeršj  

jekesâš keâer ieefle = 
108

0.3
= =

leÙe otjer
meceÙe

 360 ceeršj/meW. 

  
18

360
5

= × efkeâceer./IeCše 

  = 72 × 18 

  = 1296 efkeâceer./IeCše   
92.  Select the related word from the given alternatives. 
  Engine : Train : : Needle: ? 
  efoS ieS efJekeâuheeW ceW mes mebyebefOele Meyo keâe ÛeÙeve keâjW~  
  Fbpeve : š^sve : : megF& : ? 
 (a) Thread/Oeeiee  (b) Pin/efheve   
 (c) Steel/mšerue  (d) Cloth/keâheÌ[e 
Ans. (a) : efpeme Øekeâej Fbpeve, š^sve mes pegÌ[e neslee nw~ Gmeer Øekeâej 
megF&, Oeeiee mes mecyebOe jKelee nw~  
93.  When was the Constitution of India adopted by 

the constituent assembly? 
  mebefJeOeeve meYee ves Yeejle kesâ mebefJeOeeve keâes keâye 

DeheveeÙee Lee? 
 (a) 26

th
 January, 1950/26 peveJejer 1950  

 (b) 26
th
 December, 1949/26 efomebyej 1949  

 (c) 26
th

 October, 1949/26 Dekeäštyej 1949 

 (d) 26
th

 November, 1949/26 veJebyej 1949 
Ans. (d) : YeejleerÙe mebefJeOeeve keâer ØemleeJevee ceW 26veJebyej1949 keâe 
GuuesKe Gme efove kesâ ™he ceW efkeâÙee ieÙee nw~ efpeme efove Yeejle kesâ 
ueesieeW ves mebefJeOeeve keâes DeheveeÙee (ueeiet efkeâÙee) Je mJeÙeb keâes mebefJeOeeve 
meeQhee~ 26 veJecyej, 1949 keâes DeheveeS ieS mebefJeOeeve ceW ØemleeJevee, 
395  DevegÛÚso Deewj 8 DevegmetefÛeÙeeB Leer~  
94.  How many bricks, each measuring 10 cm × 8 

cm × 4 cm, will be needed to build a wall of 1.6 
m × 1.0 m × 20 cm? 

  1.6 ceeršj × 1.0 ceeršj × 20 mesceer keâer oerJeej yeveeves kesâ 
efueS efkeâleveer FËš keâer pe™jle nesieer~  

  Ùeefo ØelÙeskeâ FËš keâe Deekeâej 10 mesceer x 8 mesceer x 4 
mesceer nw? 

 (a) 8,000 (b) 6,000  
 (c) 1,000 (d) 4,000 
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Ans. (c) : F&šes keâer mebKÙee 
1.6 1.0 20 1000000

10 8 4 100

× × ×
=

× × ×
 

  (∵ cm keâes ceeršj ceW yeoueves hej)  

  
16 1 20 1000

10 8 4

× × ×
=

× ×
 

  = 1000  

95.  Find the specific latent heat of vapourisation of 
4.5 of nitrogen, if it relceases 990 joules of heat 
when it condenses at its boiling point of – 196°C. 
4.5 «eece veeFš^espeve keâer Jee<heve keâer ieghle T<cee %eele 
keâjW, Deiej Fmes –196ºC hej mebIeefvele efkeâÙee peeS lees 
Fmemes 990 petue G<cee efvekeâueleer nw~  

 (a) 180 J/g (b) 220 J/g  
 (c) 200 J/g  (d) 160 J/g 
Ans. (b) : efoÙee nw,   
õJÙeceeve (m) = 4.5 «eece  
T<cee (Q) = 990 petue  
heoeLe& keâer ieghle T<cee L nw, lees heoeLe& kesâ m õJÙeceeve keâer DeJemLee 
heefjJele&ve kesâ efueS DeeJeMÙekeâ T<cee  
Q = mL  
990 = 4.5 × L 

990
L

4.5
=  

L = 220 petue/«eece  
96.  Which of the following is an example of a first 

class lever? 

  efvecve ceW mes keâewve ØeLece ßesCeer kesâ ueerJej keâe GoenjCe nw? 
 (a) ice tongs /yeHe&â G"eves keâe efÛeceše (DeeFme šbie)  
 (b) wheel barrow /"suee ieeÌ[er   
 (c) nut crackers /mejewlee  
 (d) pliers /meb[meer (hueeÙeme&) 
Ans. (d) : efoÙes ieÙes efJekeâuhe ceW mes ‘meb[meer (hueeÙeme&)’ ØeLece ßesCeer 
kesâ ueerJej keâe GoenjCe nw~ Fme ßesCeer kesâ Gòeesuekeâ ceW Deeuecye, Yeej 
Deewj DeeÙeeme kesâ ceOÙe neslee nw~ mejewlee, veeryet efveÛeesÌ[ves keâer ceMeerve 
efÉleerÙe ßesCeer kesâ ueerJej keâe GoenjCe nw~ efÛeceše, efkeâmeeve keâe nue 
le=leerÙe ßesCeer kesâ ueerJej keâe GoenjCe nw~   
97.  Considering 0° < X < 180°, angle of cos x = 

0.5877852 is. 

  ceeve ueW efkeâ 0º < x < 180º, cos x = 0.5877852 keâe 
keâesCeerÙe ceeve ____ nw~  

 (a) 126º (b) 54º  
 (c) 30º (d) 148º 
Ans. (b) : efoÙee nw- 
 cos x = 0.5877852 
 efJekeâuhe mes – 
(a) cos 126º = cos (90 + 36º) 

       = sin 36º (cos x kesâ yejeyej veneR nw) 
(b) cos 54º  = 0.5877852 = cos x  
(c) cos 148º = cos (90 + 58)  

      = -sin 58º (pees cos x kesâ yejeyej veneR nw)  

(d) cos 30º = 
3 1.732

0.87
2 2

= = =  

  ( pees cos x kesâ yejeyej veneR nw~) 
Dele: cos 54º = cos x keâe keâesCeerÙe ceeve nw~  

98.  In the question two statements are given, 
followed by three conclusions I, II and III. You 
have to consider the statements to be true even 
if it seems to be at variance from commonly 
known facts. You have to decide which of the 
given conclusions, if any, follows from the given 
statements. 

  Statement 1 : All plastics are polymers. 

  Statement 2 : No plastics are rubbers, but some 
polymers are rubbers. 

  Conclusion I : Some rubbers are polymer. 

  Conclusion II : All polymer are rubbers. 

  Conclusion III : No  rubbers are plastics.  
  ØeMve ceW oes keâLeve efoS ieS nQ, Fmekesâ yeeo leerve efve<keâ<e& 

I, II Deewj III efoS ieS nQ~ Deehekeâes keâLeveeW melÙe ceevevee 
nw, Yeues ner Ùes meeceevÙe ™he mes %eeve leLÙeeW mes efYeVe neW~ 
Deehekeâes Ùen leÙe keâjvee nesiee efkeâ efoS ieS keâLeveeW ceW mes 
keâewve mee efve<keâ<e&, keâe DevegmejCe keâjlee nw~ 

  keâLeve 1 : meYeer hueeefmškeâ hee@efuecej nQ~ 
  keâLeve 2 : keâesF& hueeefmškeâ jyej veneR nQ, uesefkeâve kegâÚ 

hee@efuecej jyej nQ~ 
  efve<keâ<e& I: kegâÚ jyej hee@efuecej nQ~ 
  efve<keâ<e& II: meYeer hee@efuecej jyej nQ~  
  efve<keâ<e& III: keâesF& Yeer jyej hueeefmškeâ veneR nQ~ 
 (a) Only conclusion III follows.  
  kesâJeue efve<keâ<e& III DevegmejCe keâjlee nw~ 
 (b) Only conclusion I and III follows.  
  kesâJeue efve<keâ<e& I Deewj III DevegmejCe keâjles nQ~  
 (c) All conclusions I, II and III follow.  
  meYeer efve<keâ<e& I, II Deewj III DevegmejCe keâjles nw~ 
 (d) Only conclusion I follows.  
  kesâJeue efve<keâ<e& I DevegmejCe keâjlee nw~ 
Ans. (b) :  

   
efve<keâ<e&  I – √  

 II – × 

 III – √ 

Dele: efve<keâ<e& I SJeb III mener nw~   
99.  Find the missing number in the given series. 

  oer ieF& ßeb=Keuee ceW DevegheefmLele mebKÙee (?) yeleeFS  
  11, 4, –2, –7, ?, –14 

 (a) –11 (b) –10  

 (c) –12 (d) –9 

Ans. (a) :  

 
Dele: ? = –11  
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100.  A bullet train covers a certain distance at a 
speed of 180 kmph in 4 hours. To cover the 
same distance in 3 hours, it must travel at a 
speed of.  

  Skeâ yeguesš š^sve 4 Iebšs ceW 180 efkeâceer Øeefle Iebšs keâer Ûeeue 
mes Skeâ efveef§ele otjer leÙe keâjleer nw lees 3 Iebšs ceW meceeve 
otjer leÙe keâjves kesâ efueS, Gmes efvecveefueefKele ceW mes efkeâme 
Ûeeue mes Ùee$ee keâjveer nesieer: 

 (a) 280 km/h/efkeâceer/Iebše (b) 240 km/h/efkeâceer/Iebše  
 (c) 360 km/h/efkeâceer/Iebše (d) 12 km/h/efkeâceer/Iebše 
Ans. (b) : V1 t1 = V2 t2 mes 
 180 × 4 = V2 × 3 
 240 km/h = V2 
 Dele: Ûeeue 240 km/h nw~  

PART-B : TECHNICAL 
101. During discharging of lead acid battery, active 

material present in both plates converted into : 
 Skeâ ues[ Sefme[ yewšjer keâer ef[mÛeeefpeËie kesâ oewjeve, oesveeW 

huesšeW ceW ceewpeto meef›eâÙe meece«eer ................ ceW heefjJeefle&le 
nes peeleer nw~ 

 (a) Lead oxide/ues[ Dee@keämeeF[ 

 (b) Lead sulphate/ues[ meuhesâš 
 (c) Lead dioxide/ues[ [eF&Dee@keämeeF[ 
 (d) Spungy lead/mhebpeer ues[ 
Ans : (b) Skeâ ues[ Sefme[ yewšjer keâer ef[mÛeeefpeËie kesâ oewjeve, oesveeW 
huesšeW ceW ceewpeto meef›eâÙe meece«eer ues[ meuhesâš ceW mes heefjJeefle&le nes 
peeleer nw~ 
� ues[ Sefme[ yewšjer keâe DeeefJe<keâej øeâebmeermeer YeeweflekeâMeeŒeer iewmšve 

huesvšer ves efkeâÙee Lee~ ues[ Sefme[ yewšjer ceW Skeâ Ùee DeefOekeâ mesue 
ßesCeer ›eâce ceW pegÌ[s nesles nw~ 

� ef[mÛeepe& nesves hej ues[ Sefme[ mesue kesâ Oeveelcekeâ leLee $e+Ceelcekeâ 
oesveeW huesš ues[ meuhesâš (PbSO4) yeve peeles nQ~ 

102. Given figure shows– 

 efoÙee ieÙee efÛe$e oMee&lee nw~ 

 
 (a) Telescopic gauge/šsueermkeâesefhekeâ iespe 
 (b) Straight edge gauge/mš^sš Spe iespe 
 (c) Thread pitch gauge/LeÇs[ efheÛe iespe 
 (d) Feeler gauge/heâeruej iespe 
Ans : (c) efoÙes ieÙes efÛe$e ceW LeÇs[ efheÛe iespe efoKeeÙee ieÙee nw~ 
� LeÇs[ efheÛe iespe keâe GheÙeesie GhekeâjCe kesâ ™he ceW efkeâÙee peelee nw 

pees Skeâ heWÛe hej Ùee šwhe efkeâÙes ieÙes Úso ceW Skeâ LeÇs[ efheÛe keâe 
efveOee&jCe keâjlee nw~ 

Dee@šesceesyeeFue Jeke&âMee@he ceW efvecveefueefKele iespe ØeÙegòeâ efkeâÙes peeles nQ– 
pewmes– hueie iespe, efjbie iespe, heâeruej iespe, Sbieue iespe, efheâuesš iespe, 
Jeefve&Ùej neFš iespe, m›etâ efheÛe iespe, JewkeäÙetce iespe Deeefo~ 
103. Which of the following is not a part of hand 

file?/efvecveefueefKele ceW mes keâewve mee nwC[ heâeFue keâe 
efnmmee veneR nw? 

 (a) Heal/nerue (b) Curf/keâhe&â 
 (c) Tang/šwie (d) Beley/yesueer 
Ans : (b) heâeFue efheâšj š^s[ keâe cegKÙe keâefšbie štue nw~ heâeFue Éeje 
pee@ye Ùee ceMeerve kesâ efkeâmeer Yeeie mes heoeLe& keâer LeesÌ[er meer cee$ee nšeF& 
peeleer nw, Fme heef›eâÙee keâes heâeFefuebie keânles nQ~ heâeFue keâe Yeeie efvecve 
Øekeâej nw– 
pewmes– hesâme, keâesj (edge), efšhe Ùee hJeeFbš, nerue, hesâ™ue, nwC[ue, 
šQie Deeefo~ keâhe&â nwC[ heâeFue keâe Yeeie veneR nw~ 
104. Face angle of 45

o
 is normally suitable for– 

 45
o
 keâe hesâme Sbieue meeceevÙele: ................ kesâ efueS 

GheÙegòeâ neslee nw~ 
 (a) Sleeve valve/mueerJe JeeuJe 
 (b) Rotary valve/jesšjer JeeuJe 
 (c) Reed valve/jer[ JeeuJe 
 (d) Adjust valve/Sipee@mš JeeuJe 
Ans : (d) 45o keâe hesâme Sbieue meeceevÙele: Sipeemš JeeuJe kesâ efueS 
ØeÙegòeâ neslee nw~ 
� JeeuJe Skeâ lejue kesâ ØeJeen keâes efveÙebef$ele keâjves kesâ efueS GheÙeesie 

efkeâS peeves Jeeuee GhekeâjCe nw~ 
105. In oxidising frame : 

 Dee@keämeerkeâejkeâ ueew ceW– 
 (a) Internal cone is white and outer cone is of 

blue colour/Deebleefjkeâ Mebkegâ mehesâo Deewj Jee¢e Mebkegâ 
veerues jbie kesâ nesles nQ~ 

 (b) Internal cone is white, middle cone is blue & 
outer cone is of read colour 

  Deebleefjkeâ Mebkegâ mehesâo, ceeOÙeefcekeâ Mebkegâ veerues Deewj yee¢e 
Mebkegâ ueeue jbie kesâ nesles nQ~ 

 (c) Internal cone is blue and outer cone is of red 
colour/Deebleefjkeâ Mebkegâ veerues Deewj yee¢e Mebkegâ ueeue jbie 
kesâ nesles nQ~ 

 (d) Internal cone is white, middle cone is red & 
outer cone is of blue colour 

  Deebleefjkeâ Mebkegâ mehesâo ceeOÙeefcekeâ Mebkegâ ueeue Deewj yee¢e 
Mebkegâ veerues jbie kesâ nesles nQ~ 

Ans : (a) Dee@keämeerkeâejkeâ ueew ceW Deebleefjkeâ Mebkegâ mehesâo Deewj Jee¢e 
Mebkegâ veerues jbie kesâ nesles nQ~ 
106. Pintle nozzle is used to stop ........... in hole. 
 efhebšue veespeue keâe GheÙeesie efÚõ ceW ............ jeskeâves kesâ 

efueS efkeâÙee peelee nw~ 
 (a) Formation of oil/lesue keâe yevevee 
 (b) Formation of steam/Yeehe keâe yevevee 
 (c) Sequestration of carbon/keâeye&ve keâe peceeJe nesvee 
 (d) Formation of water/heeveer keâe yevevee 
Ans : (c) efhebšue veespeue keâe GheÙeesie efÚõ ceW keâeye&ve kesâ peceeJe keâes 
jeskeâves kesâ efueS ØeÙeesie efkeâÙee peelee nw~ 
107. Which of the following is not a function of 

piston ring? 
 efvecveefueefKele ceW mes keâewve mee efhemšve efjbie keâe keâeÙe& 

veneR nw? 
 (a) Sealing the combustion chamber so that no 

gas will transfer from chamber/onve keâ#e keâes 
meerue keâjvee, leeefkeâ ÛeQyej SJeb ›eQâkeâ mes iewmeeW keâe keâesF& 
DeblejCe ve nes 
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 (b) Provide space for lubricating oil film 
  uegefyeÇkesâefšbie Dee@Ùeue efheâuce kesâ efueS peien Øeoeve keâjvee 
 (c) To control the consumption of engine oil 

  Fbpeve Dee@Ùeue keâer Kehele keâes efveÙebef$ele keâjvee 
 (d) To help out the transfer of heat from piston 

cylinder wall/efhemšve mes efmeueW[j keâer oerJeej lekeâ 
T<cee DeblejCe ceW ceoo keâjvee 

Ans : (b) efhemšve efjbie keâe efvecveefueefKele keâeÙe& nw~  
� onve keâ#e keâes meerue keâjvee leeefkeâ Ûewcyej mes iewmeeW keâe keâesF& 

DeblejCe ve nes 
� efhemšve efjbie keâe keâeÙe& Fbpeve Dee@Ùeue keâer Kehele keâes efveÙebef$ele 

keâjvee 
� efhemšve mes efmeueW[j keâer oerJeej lekeâ T<cee DeblejCe ceW ceoo keâjvee 

neslee nw~ 
108. Which of the following material is not used for 

manufacturing crankshaft? 

 efvecveefueefKele ceW mes keâewve meer meece«eer keâe GheÙeesie 
›eQâkeâMeeheäš kesâ efueS veneR efkeâÙee peelee nw? 

 (a) Forged steel/heâesp[& mšerue  
 (b) Ductile iron/leveveMeerue ueesne ([ekeäšeFue DeeÙejve) 
 (c) Tin/efšve 
 (d) Titanium/šeFšsefveÙece 
Ans : (c) efšve meece«eer keâe GheÙeesie ›eQâkeâ Meeheäš kesâ efueS veneR efkeâÙee 
peelee nw~ ›eQâkeâ Meeheäš [^ehe heâesp[& mšerue mes yeveer nesleer nw ›eQâkeâ 
Meeheäš kesâ Deboj nesue yeves nesles nQ efpevekesâ Deboj mes Dee@Ùeue keâe heäuees 
neslee nw pees uegefyeÇkesâMeve keâe keâeÙe& keâjlee nw efpevemes Dee@Ùeue yeenj 
Deelee nw~ 
109. 

 
 Drill in given figure is : 

 efÛe$e ceW ØeoefMe&le ef[^ue nw : 
 (a) Spade drill/mhes[ ef[^ue 
 (b) Center drill/meWšj ef[^ue 
 (c) Twist drill/šdefJemš ef[^ue 
 (d) Taper shank core drill/šshej MeQkeâ keâesj ef[^ue 
Ans : (a) mhes[ ef[^ue keâes efÛe$e ceW efoKeeÙee ieÙee nw~  
� mhes[ ef[^ue keâe GheÙeesie DeeJeMÙekeâ meeFpe keâe šdefJemš ef[^ue 

GheueyOe ve nesves Jeeues mLeeve hej efkeâÙee peelee nw~ 
� mhes[ ef[^ue keâe GheÙeesie jwÛesš yeÇsme Ùee efyevee Meefòeâ Jeeueer nw[ 

ef[^efuebie ceMeerve kesâ efueS efkeâÙee peelee nw~ 
110. Which part of piston is under high 

temperature and pressure? 

 efhemšve keâe keâewve mee Yeeie GÛÛe oeye Deewj leehe kesâ 
DeOeerve neslee nw? 

 (a) Skirt/mkeâš& 
 (b) Land/ueQ[ 
 (c) Crown/›eâeGve 
 (d) Ring section/efjbie meskeäMeve 
Ans : (c) efhemšve keâe ›eâeGve Yeeie GÛÛe oeye Deewj leehe kesâ DeOeerve 
neslee nw~ efhemšve DeefOekeâlej SuÙetefceefveÙece Suee@Ùe kesâ yeveeS peeles nQ 

hejvleg kegâÚ FbpeveeW ceW keâemš DeeÙejve DeLeJee mesceer mšerue kesâ Yeer ØeÙeesie 
neslee nw~ 
efhemšve ceW efvecve iegCe nesvee ÛeeefnS– 
� efhemšve Yeej ceW nukeâe nesvee ÛeeefnS leLee Ûeueles meceÙe 

DeeJeepe ve nes 
� efhemšve T<cee keâe megÛeeuekeâ nesvee ÛeeefnS efpememes [sšesvesMeve ve nes 
111. What do you use to get a smooth finish and 

accurate size of drilled hole? 
 Deehe DeÛÚer lejn efheâefveMe Øeehle keâjves Deewj ef[^ue efkeâS 

efÚõeW keâe mešerkeâ Deekeâej Øeehle keâjves kesâ efueS efkeâmekeâe 
ØeÙeseie keâjWies? 

 (a) Spot facing/mhee@š hesâefmebie 
 (b) Reaming/jerefcebie 
 (c) Boring/yeesefjbie 
 (d) Counter sinking/keâeGbšjefmebefkebâie 
Ans : (b) DeÛÚer efheâefveMe melen Øeehle keâjves Deewj ef[^ue efkeâS efÚões 
keâe mešerkeâ Deekeâej Øeehle keâjves kesâ efueS jerefcebie keâe ØeÙeesie efkeâÙee peelee 
nw~ jerefcebie kesâ efueS jercej štue keâe ØeÙeesie efkeâÙee peelee nw Ùen Skeâ 
ceušer hJeeFbš keâefšbie štue nw~ 
jerefcebie kesâ ueeYe efvecve Øekeâej nQ– 
� GÛÛe iegCeJeòee keâe melen heefj<keâjCe 
� meceerhemLe meercee leLee efJeceerÙe heefjMegælee 
112. Five cells each of 2.5 volt emf & 0.2 ohm 

internal resistance are connected in series in 
such a way that the poles of two of them are 
interchanged. The whole set can be replaced by 
: 

 2.5 Jeesuš emf Deewj 0.2 ohm Deebleefjkeâ ØeeflejesOe Jeeues 
heeBÛe mesueeW keâes ßesCeer›eâce ceW Fme lejn peesÌ[e ieÙee nw efkeâ 
GveceW mes oes keâer OeÇgJe heefjJeefle&le nes ieF& nw~ hetjs mesš Dehe 
keâes ............ Éeje ØeeflemLeeefhele efkeâÙee pee mekeâlee nw~ 

 (a) An equivalent cell with 12.5 V emf and 0.2 
ohm internal resistance/12.5 Jeesuš emf Deewj 
0.2 ohm Deebleefjkeâ ØeeflejesOe Jeeues Skeâ meceleguÙe mesue 

 (b) An equivalent cell with 2.5 V emf and 1 ohm 
internal resistance/2.5 Jeesuš emf Deewj 1 ohm 

Deebleefjkeâ ØeeflejesOe Jeeues Skeâ meceleguÙe mesue 
 (c) An equivalent cell with 12.5 volt emf and 0.4 

ohm internal resistance/12.5 Jeesuš emf Deewj 
0.4 ohm Deebleefjkeâ ØeeflejesOe Jeeues Skeâ meceleguÙe mesue 

 (d) An equivalent cell with 2.5 V emf and 0.2 
ohm internal resistance/ 2.5 Jeesuš emf Deewj 0.2 

ohm Deebleefjkeâ ØeeflejesOe Jeeues Skeâ meceleguÙe mesue 
Ans : (a)  

 

∵ meYeer Cells series ceW connect nw Deewj series ceW connected 

voltage Deeheme ceW additive nature kesâ nesles nQ~ 
∵ oes cells keâer Polarity change nes jner nw uesefkeâve meceleguÙe 
heefjheLe hej Fmekeâe keâesF& ØeYeeJe veneR heÌ[siee~ 

∴ meceleguÙe heefjheLe –  
DeLee&le 12.5 V leLee Deevleefjkeâ ØeeflejesOe 0.25 nesiee~ 
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113. In diesel fuel system, CRDI is : 

 [erpeue FËOeve ØeCeeueer ceW, CRDI nw : 
 (a) Common rail direct injection 
  keâe@ceve jsue [eÙejskeäš FpeskeäMeve 
 (b) Common trail direct injection 
  keâe@ceve š^sue [eÙejskeäš FbpeskeäMeve 
 (c) Common rail direct injection 
  keâjWš jsš [eÙejskeäš FpeskeäMeve 
 (d) Common rail direct ignition 
  keâe@ceve jsue [eÙejskeäš FefiveMeve 
Ans : (a) [erpeue FËOeve ØeCeeueer ceW keâe@ceve jsue [eÙejskeäš FbpeskeäMeve 
(CRDI) keâe ØeÙeesie efkeâÙee peelee nw~ 
114. Which of the following is cast into the 

crankcase to provide greater strength to 
camshaft bearing? 

 kewâceMeeheäš efyeÙeefjbie keâes DeefOekeâ cepeyetleer Øeoeve keâjves 
Deewj Gmes meneje osves kesâ efueS ›eQâkeâkesâme ceW efvecveefueefKele 
ceW mes {euee (yeveeÙee) peelee nw? 

 (a) Rocker arm/je@keâj Deece& 
 (b) Manifold/cewveerheâesu[ 
 (c) Oil filter/Dee@Ùeue efheâušj 
 (d) Rim/efjce 
Ans : (d) kewâce Meeheäš efyeÙeefjbie keâes DeefOekeâ cepeyetleer Øeoeve keâjves 
Deewj Gmes meneje osves kesâ efueS ›eQâkeâkesâme ceW efjce keâes {euee (yeveeÙee) 
peelee nw~ 
115. Circlip is made of : 
 meefkeäue&he ................... mes yevee neslee nw~ 
 (a) Full floating type wrist pins 
  hegâue heäueesefšbie šeFhe efjmš efheveeW 
 (b) Three quarter floating type wrist 
  LeÇer–keäJeeš&j heäueesefšbie šeFhe efjmš 
 (c) Non floating type wrist pins 
  vee@ve heäueesefšbie šeFhe efjmš efheveeW 
 (d) Semi floating type wrist pins 
  mesceer heäueesefšbie šeFhe efjmš efheveeW 
Ans : (a) meefkeäue&he hegâue heäueesefšbie šeFhe efjmš efheveeW mes yevee 
neslee nw~ 
� Fme Øekeâej keâe efheve efhemšve Deewj keâvesefkeäšbie je[ oesveeW ceW Ietceves 

kesâ efueÙes mJeleb$e nw~ 
� Fmekeâe GheÙeesie Gve FbpeveeW ceW efkeâÙee peelee nw, pees DeefOekeâ Yeehe 

hej Ûeueles nQ~ 
� Fmekeâe ØeÙeesie Meeheäš leLee keâesj ceW keâcheesveWš keâer Gmeer DeJemLee ceW 

efveÙele DeJemLee ceW yeveeS jKeves kesâ efueS efkeâÙee peelee nw~ 
� mejefkeäueheeW keâes muee@š ceW mejefkeäuehe hueeÙej kesâ Éeje efheâš efkeâÙee 

peelee nw~ 
116. The supply of air to intake of the engine having 

a density greater that of surrounding 
atmosphere is called 

 Fbpeve kesâ Fvešskeâ keâes Deemeheeme kesâ JeeleeJejCe kesâ IevelJe 
mes DeefOekeâ IevelJe Jeeueer JeeÙeg keâer Deehetefle& keâjves keâes 
.............. keâne peelee nw~ 

 (a) Super heating/meghejnerefšbie 
 (b) Super charging/meghejÛeeefpeËie 
 (c) Preheating/Øeernerefšbie 
 (d) Super cooling/meghejketâefuebie 

Ans : (b) Fbpeve kesâ Fvešskeâ keâes Deemeheeme kesâ JeeleeJejCe kesâ IevelJe mes 
DeefOekeâ IevelJe Jeeueer JeeÙeg keâer Deehetefle& keâjves keâes meghejÛeeefpeËie keâne 
peelee nw~ 
� meghejÛeepe&j Skeâ SÙej kebâØesmej nw pees Deevleefjkeâ onve Fbpeve keâer 

Deehetefle& keâer ieF& nJee kesâ oyeeJe Ùee IevelJe keâes yeÌ{elee nw~ 
117. Glow plug in diesel engine is :  
 [erpeue Fbpeve ceW, iuees hueie ............... 
 (a) Situated in inlet manifold 
  Fveuesš cewveerheâesu[ ceW mLeeefhele neslee nw~ 
 (b) Tightened in combustion chamber 
  onve keâ#e ceW keâmee neslee nw 
 (c) Used to prevent leakage 
  efjJeeme jeskeâves kesâ efueS ØeÙeesie efkeâÙee peelee nw 
 (d) Used for decompression 
  efJemebheer[ve kesâ efueS ØeÙeesie efkeâÙee peelee nw 
Ans : (b) [erpeue Fbpeve ceW iuees hueie onve keâ#e ceW keâmee neslee nw~ 
� iuees hueie Ssmee G<ceerÙe GhekeâjCe nw pees [erpeue Fbpeve keâes Meg™ 

Ùee mšeš& keâjves kesâ efueS ØeÙeesie efkeâÙee peelee nw~ 
118. Which of the following instrument helps to 

start cold diesel engine? 
 efvecveefueefKele ceW mes keâewve mee GhekeâjCe "b[s [erpeue Fbpeve 

keâes mšeš& keâjves ceW ceoo keâjlee nw? 
 (a) Glow plug/iuees hueie 
 (b) Accumulator/SkeäÙetcetuesšj 
 (c) Spark plug/mheeke&â hueie 
 (d) Strainer/mš^svej 
Ans : (a) iuees hueie Ssmee GhekeâjCe nw pees "C[s [erpeue Fbpeve keâes 
mšeš& keâjves ceW ceoo keâjlee nw~ keäÙeeWefkeâ keâcØesMeve keâer T<cee keâes 
efmeuesC[j yueekeâ Je efmeuesC[j Meer<e& Éeje DeJeMeesef<ele keâj efueÙee 
peelee nw~ 
119. Which of the following statement is correct 

regarding diesel engine?  
 [erpeue Fbpeve kesâ mebyebOe ceW efvecveefueefKele ceW mes keâewve mee 

keâLeve mener nw? 
 (a) It is a compression ignition engine 

  Ùen keâcØesMeve FefiveMeve Fbpeve nw 
 (b) It is external combustion engine 

  Ùen yee¢e onve Fbpeve nw 
 (c) Gasoline is used as fuel in this 
  FmeceW FËOeve kesâ ™he ceW iewmeesueerve keâe GheÙeesie efkeâÙee peelee nw 
 (d) It is spark ignition engine 
  Ùen mheeke&â FefiveMeve Fbpeve nw 
Ans : (a) [erpeue Fbpeve Skeâ keâcØesMeve FbefiveMeve Fbpeve nw pees yevo 
mLeeve ceW JeeÙeg keâes mebheeref[le keâjves mes GlheVe G<cee keâe GheÙeesie keâjkesâ 
FËOeve ceW pJeueve GlheVe keâjlee nw~ 
� [erpeue Fbpeve keâer Keespe 1892 ceW hesefjme ceW pece&ve cetue kesâ 

DeefYeÙeblee ™[esuheâ [erpeue ves keâer Leer~ 
120. Which of the following is not a part of cylinder 

head? 
 efvecveefueefKele ceW mes keâewve mee efmeueW[j ns[ keâe efnmmee 

veneR nw? 
 (a) Stud hole/mš[ nesue 
 (b) Rocker shaft/je@keâj Meeheäš 
 (c) Tube inconel/šdÙetye Fbkeâesvesue 
 (d) Valve retainer/JeeuJe efjšsvej 
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Ans : (c) šdÙetye Fbkeâesvesue keâe efmeuesC[j ns[ keâe efnmmee veneR nw~ 
efmeuesC[j ns[ Skeâ Deebleefjkeâ onve Fbpeve keâe meyemes cenòJehetCe& 
efnmmee nw~ 
� efmeuesC[j ns[ Fbpeve keâe meyemes Thejer efnmmee nw~ efmeuesC[j ns[ 

ceW efvecveefueefKele Yeeie nesles nQ– 
pewmes– Fbpeve JeeuJe, mheeke&â hueie, heäÙetue Fbpeskeäšme&, mš[ nesue, je@keâj 
Meeheäš, JeeuJe efjšsvej Deeefo~ šŸetye Fbkeâesvesue efmeuesC[j ns[ keâe efnmmee 
veneR nw~ 
121. The emf of a cell if 1.5 V. When short circuited, 

it provides current of 3A. Internal resistance of 
cell is– 

 Skeâ mesue keâe emf 1.5 Jeesuš nw~ ueIegheefLele efkeâS peeves 
hej, Ùen 3A keâer Oeeje Øeoeve keâjlee nw~ mesue keâe 
Deebleefjkeâ ØeeflejesOe ............. nw~ 

 (a) 0.5 ohm (b) 2.5 ohm 
 (c) 4.5 ohm (d) 2.0 ohm 
Ans : (a) Deesce kesâ efveÙece kesâ Devegmeej efkeâmeer Ûeeuekeâ kesâ efmejeW kesâ 
ceOÙe GlheVe efJeYeeJevlej FmeceW ØeJeeefnle nesves Jeeueer Oeeje kesâ meceevegheeleer 
neslee nw~ 
 V I∝  
 R V / I=  

 
1.5

R 0.5Ohm
3

   

 R 0.5Ohm  

122. Which of the following is used to control the 
speed of diesel engine?  

 [erpeue Fbpeve keâer ieefle keâes efveÙebef$ele keâjves kesâ efueS 
efvecveefueefKele ceW mes efkeâmekeâe GheÙeesie efkeâÙee peelee nw? 

 (a) Odometer/Dees[erceeršj 
 (b) Regulator/jsieguesšj 
 (c) Governor/ieJeve&j 
 (d) Speedometer/mheer[esceeršj 
Ans : (c) [erpeue Fbpeve keâer ieefle keâes efveÙebef$ele keâjves kesâ efueS ieJeve&j 
keâe ØeÙeesie efkeâÙee peelee nw~ ieJeve&j keâF& Øekeâej keâe neslee nw–  
[erpeue Fbpeve ceW keäJeeefuešer keâvš^esue ieJeve&j keâe ØeÙeesie neslee nw~ 
Centrifugal governors, Porter governors, Hartnell 
governors, Inertia governors etc. 

123. Cylinder of 4-stroke engine has : 

 4-mš^eskeâ Fbpeve kesâ efmeueW[j ceW ............. nesles nQ~ 
 (a) One valve/Skeâ JeeuJe 
 (b) Three valve/leerve JeeuJe 
 (c) Four valve/Ûeej JeeuJe 
 (d) Two valve/oes JeeuJe 
Ans : (b) 4-mš^eskeâ Fbpeve kesâ efmeuesC[j ceW leerve JeeuJe nesles nQ~ 
ØeJesMe JeeuJe, efvekeâeme JeeuJe Deewj Fbpeskeäšj JeeuJe nesles nQ~ 
� Jele&ceeve Ùegie ceW keâejeW, š^keâes, ceesšj meeFefkeâueeW Je JeeÙegÙeeveeW Deeefo 

ceW ØeÙeesie nesves Jeeues Devleo&nve Fbpeve heâesj mš^eskeâ Fbpeve neslee nw~ 
� Fmemes henues ieeefÌ[ÙeeW ceW št mš^eskeâ Fbpeve keâe ØeÙeesie neslee nw 

uesefkeâve ceeFuespeve, peerJeve DeJeefOe keâce nesves kesâ keâejCe heâesj 
mš^eskeâ Fbpeve keâe ØeÙeesie nesves ueiee~ 

124. Which of the following is not suitable for 
making thermistor? 

 efvecveefueefKele ceW mes keâewve mee Leefce&mšj yeveeves kesâ efueS 
GheÙegòeâ veneR nw? 

 (a) Cobalt/keâesyeeuš (b) Uranium/ÙetjsefveÙece 
 (c) Bronze/keâebmee (d) Iron/ueesne 
Ans : (c) Leefce&mšj keâebmee mes veneR yeveeÙee pee mekeâlee nw~ Leefce&mšj 
keâesyeeuš, ÙetjsefveÙece, ueesne Deeefo mes yeveeÙee peelee nw~ Leefce&mšj Skeâ 
Øekeâej keâe ØeeflejesOekeâ nw efpemekeâe ØeeflejesOe Gmekesâ leehe kesâ meeLe yengle 
DeefOekeâ heefjJeefle&le neslee nw~  
� Leefce&mšj keâe GheÙeesie Jeenve GÅeesie ceW neršj keâer lejn neslee nw~ 
125. Fixing order for horizontally opposed engine 

cylinder : 

 efmeueW[j ne@efjpee@všueer Deheesp[ Fbpeve kesâ efueS, onve ›eâce 
(heâeÙeefjbie Dee@[&j) ................ nw~ 

 (a) 1–2–3–4 (b) 1–3–4–2 
 (c) 2–1–4–3 (d) 1–4–3–2 
Ans : (b) 4 efmeuesC[j ne@efjpeevšueer Deheesp[ Fbpeve kesâ efueS onve 
›eâce 1–3–4–2  neslee nw~ Meerleueve Deewj OJeefve keâes ØeJeeefnle 
keâjlee nw~ 
126. Which of the following colour smoke is likely to 

be seen when starting a cold engine? 

 "v[s Fbpeve keâes mšeš& keâjles meceÙe, efvecveefueefKele ceW mes 
efkeâme jbie keâe OegbDee efoKeeF& osves keâer mebYeeJevee nesleer nw? 

 (a) Blue smoke/veeruee OegDeeB 
 (b) White smoke/mehesâo OegDeeB 
 (c) Black smoke/keâeuee OegDeeB 
 (d) Yellow smoke/heeruee OegDeeB 
Ans : (b) "b[s Fbpeve keâes mšeš& keâjles meceÙe mehesâo jbie keâe OegDee 
efoKeeF& osves keâer mebYeeJevee nesleer nw~ 
� "C[s Fbpeve keâes mšeš& keâjles meceÙe iuees hueie keâe GheÙeesie efkeâÙee 

peelee nw~ 
127. Following is used to convert A.C. current into 

D.C. current : 

 A.C. Oeeje keâes D.C. Oeeje ceW heefjJeefle&le keâjves kesâ efueS 
efvecveefueefKele keâe GheÙeesie efkeâÙee peelee nw– 

 (a) Rectifier/efo°keâejer (jskeäšerheâeÙej) 
 (b) Capacitor/mebOeeefj$e 
 (c) Induction coil/ØesjCe kegâC[ueer (Fv[keäMeve keâe@Fue) 
 (d) condenser/kebâ[Wmej 
Ans : (a) jsefkeäšheâeÙej Ssmeer Ùegefòeâ nw pees AC keâes  DC ceW yeoueves 
keâe keâeÙe& keâjleer nw DeLee&le jsefkeäšheâeÙej AC mes DC heefjJele&keâ nw~ 
� jsefkeäšheâeÙej yengle GheÙeesieer nw keäÙeeWefkeâ Deepekeâue yengle GhekeâjCe 

pewmes– jsef[Ùees, šer.Jeer. ceeF›eâesJesJe Yeóer Deeefo [er.meer. mes ner 
Ûeueles nQ~ 

128. A small engine is to be installed with a electric 
starting system, then for that : 

 Skeâ Fuesefkeäš^keâ mšeefšËie efmemšce kesâ meeLe Skeâ Úesše 
Fbpeve ueieeÙee peevee nw, lees Fmekesâ efueS 

 (a) A 12 V, 60 A-hr battery can be used as a 
storage battery/mšesjspe yewšjer kesâ ™he ceW 12 Jeesuš, 
60 A-hr keâer yewšjer keâe Fmlesceeue efkeâÙee pee mekeâlee nw 
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(b) A 12 V, 40 A-hr battery can be used as a
storage battery/mšesjspe yewšjer kesâ ™he ceW 12 Jeesuš,
40 A-hr keâer yewšjer keâe Fmlesceeue efkeâÙee pee mekeâlee nw

(c) A 12 V, 110 A-hr battery can be used as
storage battery/mšesjspe yewšjer kesâ ™he ceW 12 Jeesuš,
110 A-hr keâer yewšjer keâe Fmlesceeue efkeâÙee pee mekeâlee nw

(d) A 12 V, 220 A-hr battery can be used as a
storage battery/mšesjspe yewšjer kesâ ™he ceW 12 Jeesuš,
220 A-hr keâer yewšjer keâe Fmlesceeue efkeâÙee pee mekeâlee nw

Ans : (c) Skeâ Fuesefkeäš^keâ mšeefšËie efmemšce kesâ meeLe Skeâ Úesše mee 
Fbpeve ueieeÙee peevee nw Fmekesâ efueS mšesjspe yewšjer kesâ ™he ceW 12 
Jeesuš, 110 A-hr keâer yewšjer keâe Fmlesceeue efkeâÙee pee mekeâlee nw~ 
129. During cranking of diesel engine, starter motor

converts electrical energy into :

[erpeue Fbpeve keâer ›ewâefkebâie kesâ meceÙe, mšeš&j ceesšj efJeÅegle
Tpee& keâes .................. ceW heefjJeefle&le keâjleer nw 
(a) Mechanical energy/Ùeebef$ekeâ Tpee&
(b) Thermal energy/leeheerÙe Tpee&
(c) Bio-chemical energy/pewJe jemeeÙeefvekeâ Tpee&
(d) Chemical energy/jemeeÙeefvekeâ Tpee&

Ans : (a) [erpeue Fbpeve keâer ›ewâefkebâie kesâ meceÙe, mšeš&j ceesšj efJeÅegle 
Tpee& keâes Ùeebef$ekeâ Tpee& ceW heefjJeefle&le keâjleer nw~ 
� efkeâmeer DeJeÙeJe ceW efveefnle efmLeeflepe Tpee& leLee ieeflepe Tpee& kesâ 

Ùeesie keâes Ùeebef$ekeâ Tpee& keânles nQ~ 
130. Function of alternator is vehicle :

Jeenve ceW Deušjvesšj keâe keâeÙe& neslee nw :
(a) Measuring current/Oeeje keâes ceehevee
(b) Charging battery/yewšjer keâes Ûeepe& keâjvee
(c) Discharging battery/yewšjer keâes ef[mÛeepe& keâjvee
(d) Starting the engine/Fbpeve keâes mšeš& keâjvee

Ans : (b) Jeenve ceW Deušjvesšj keâe keâeÙe& yewšjer keâes Ûeepe& keâjvee 
neslee nw~ 
� Deušjvesšj Skeâ Øekeâej keâe Fuesefkeäš^keâue ceMeerve neslee nw peesefkeâ 

cewkesâefvekeâue Tpee& keâes Deušjvesefšbie Fuesefkeäš^keâue Tpee& ceW keâveJeš& 
keâjlee nw FmeefueS Fmes syncronous generators Ùee AC

generator Yeer keâne peelee nw~ 
131. The pin used to connect piston and short end of

connecting rod is known as :

efhemšve Deewj mebÙeespekeâ ÚÌ[ (keâvesefkeäšbie je@[) kesâ Úesšs
efmejs keâes peesÌ[ves kesâ efueS ØeÙegòeâ efheve keâes ................ kesâ
™he ceW peevee peelee nw~
(a) Skirt pin/mkeâš& efheve
(b) Gudgeon pin/iepeve efheve
(c) Screw pin/m›etâ efheve
(d) Crank pin/›eQâkeâ efheve

Ans : (b) efhemšve Deewj mebÙeespekeâ ÚÌ[ kesâ Úesšs efmejeW keâes peesÌ[ves kesâ 
efueS ØeÙegòeâ efheve keâes iepeve efheve kesâ ™he ceW peevee peelee nw~ 
� iepeve efheve keâes efhemšve efheve Yeer keâne peelee nw Fmekeâe keâece 

efhemšve Deewj keâvesefkeäšbie je[ keâes peesÌ[vee neslee nw~ 
� iepeve efheve mšerue keâer yeveeÙeer peeleer nw~ 
� iepeve efheve efvecve Øekeâej keâer nesleer nw– 
pewmes– efheâkeäm[ efheve šeFhe, mesceer heäueesefšbie šeFhe Deeefo~ 

132. In small diesel engine, exhaust manifold made
of ....... is used 

Úesšs [erpeue FbpeveeW ceW ................ mes yeves Sipee@mš 
cewveerheâesu[ keâe ØeÙeesie efkeâÙee peelee nw~ 
(a) Cast iron/{ueJeeB ueesne
(b) Copper/leeByee
(c) Brass/heerleue
(d) Aluminium/SuÙetceerefveÙece

Ans : (a) Úesšs [erpeue FbpeveeW ceW {ueJee ueesns mes yeves Sipee@mš 
cewveerheâesu[ keâe ØeÙeesie efkeâÙee peelee nw~ 
133. Valve timing diagram for a 2 stroke engine is

drawn :

Skeâ 2-mš^eskeâ Fbpeve kesâ efueS Jee@uJe šeFefcebie DeejsKe
KeeRÛee ieÙee nw~
(a) FI stands for fast ignition

FI keâe DeefYeØeeÙe heâemš FiveerMeve mes nw
(b) IS stands for intake stop

IS keâe DeefYeØeeÙe Fbšskeâ mše@he mes nw
(c) IVO stands for ignition valve open

IVO keâe DeefYeØeeÙe FefiveMeve JeeuJe Deesheve mes nw
(d) BDC stands for bottom dead center

BDC keâe DeefYeØeeÙe yee@šce [s[ meWšj mes nw
Ans : (d) Skeâ 2-mš^eskeâ Fbpeve kesâ efueS JeeuJe šeFefcebie DeejsKe 
KeeRÛee ieÙee efpemekeâe GheÙeesie Fbpeve keâer Øeef›eâÙee keâes Keesueves Deewj yevo 
keâjves kesâ efueS efkeâÙee peelee nw~ B.D.C. keâe DeefYeØeeÙe yee@šce [sš 
meWšj mes nw~ 
� peye keâesF& efhemšve T.D.C. mes B.D.C. kesâ heeme peelee nw lees keâne 

peelee nw efkeâ Gmeves Skeâ mš^eskeâ hetje efkeâÙee nw~ 
� T.D.C. (še@he [s[ meWšj) efmeuesC[j kesâ Devoj efhemšve keâer meyemes

Thejer efmLeefle nw Deewj yee@šce [s[ meWšj (B.D.C.) Skeâ efmeuesC[j 
kesâ Devoj efhemšve keâer meyemes efveÛeueer efmLele nw~ 

134. Fly wet control spring ......... 

heäueeF& Jesš kebâš^esue efmØebie ................. 
(a) Connected with base plate

yesme huesš mes pegÌ[er nesleer nw
(b) Connected with contactor breaker arm

keâebšskeäšj yeÇskeâj kewâce mes pegÌ[er nesleer nw
(c) Connected with wet pivot

Jesš efheJeš mes pegÌ[er nesleer nw
(d) Connected with fly wet

heäueeF& Jesš mes pegÌ[er nesleer nw
Ans : (c) heäueeF& Jesš kebâš^esue efmØebie Jesš efheJeš mes pegÌ[er nesleer nw~ 
135. Which of the following pump is used in engine

cooling system?

Fbpeve ketâefuebie efmemšce ceW efvecveefueefKele ceW mes efkeâme hebhe
keâe ØeÙeesie efkeâÙee peelee nw?
(a) Centrifugal/Dehekesâvõer (mesvš^erheäÙetieue)
(b) Internal gear/Deebleefjkeâ efieÙej
(c) Vane/Jesve
(d) Reciprocating/ØelÙeeieeceer (jsefmeØeeskesâefšbie)

Ans : (a) Fbpeve ketâefuebie efmemšce ceW Dehekesâvõer hebhe keâe ØeÙeesie efkeâÙee 
peelee nw~ 
� Dehekesâvõer heche IetCe&ve keâer ieeflepe Tpee& keâes õJe keâer ieeflepe Tpee& 

ceW yeouelee nw Fmekeâe GheÙeesie õJe keâes G"eves ceW efkeâÙee peelee nw~ 
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136. How many compressor spring should be in 
engine (automobile)? 

 Fbpeve (Dee@šesceesyeeFue) ceW efkeâleveer kebâØesmej efjbie nesveer 
ÛeeefnS? 

 (a) Minimum three/vÙetvelece leerve 
 (b) Minimum two/vÙetvelece oes  
 (c) Minimum four/vÙetvelece Ûeej 
 (d) Minimum one/vÙetvelece Skeâ 
Ans : (b) Fbpeve ceW vÙetvelece oes kebâØesmej efjbie nesveer ÛeeefnS~ 
� kebâØesmej Skeâ Øekeâej keâe cewkesâefvekeâue Device nw efpemekeâe GheÙeesie 

Air kesâ Pressure keâes yeÌ{eves kesâ efueS efkeâÙee peelee nw~ 
137. What will be cutting speed for 40 mm diameter 

and 1000 mm rpm spindle speed in lathe 
machine? 

 uesLe (Kejero) ceMeerve ceW, 40 mm JÙeeme Deewj 1000 rpm 

Oegjer (efmheb[ue) keâer ieefle kesâ efueS keâle&ve ieefle (keâefšbie 
mheer[) efkeâleveer nesieer? 

 (a) 250 m/min (b) 100 m/min 
 (c) 200 m/min (d) 125 m/min 
Ans : (d) D = 40 mm, N = 1000 rpm, V = ? 

 
DN

V
1000

π
=  

 
3.14 1000 40

V
1000

× ×
=  

 V 125.6m / min=  

138. Assembled type of crankshaft is mainly used 
in– 

 DemeWyeu[ Øekeâej kesâ ›eQâkeâMeeheäš keâe ØeÙeesie cegKÙele: 
........... ceW efkeâÙee peelee nw~ 

 (a) Engine of rails (locomotive) 

  jsue kesâ FbpeveeW (ueeskeâesceesefšJe) 
 (b) Motor cycle/ceesšjmeeFefkeâueeW 
 (c) Passenger cars/Ùee$eer keâejeW 
 (d) Marine/cejerve 
Ans : (b) DemeWyeu[ Øekeâej kesâ ›eQâkeâMeeheäš keâe ØeÙeesie cegKÙele: ceesšj 
meeFefkeâueeW ceW efkeâÙee peelee nw~ 
� ›eQâkeâMeeheäš Skeâ Ùeebef$ekeâ Ùegefòeâ nw pees ØelÙeeieeceer ieefle Deewj IetCe&ve 

ieefle ceW hejmhej heefjJele&ve keâjleer nw~ 
139. Ratio of maximum fluctuation of speed and 

mean speed is known as : 

 ieefle kesâ DeefOekeâlece Gleej–ÛeÌ{eJe Deewj ceeOÙe ieefle kesâ 
Devegheele keâes ................ kesâ ™he ceW peevee peelee nw~ 

 (a) Cycle of work done/efkeâS ieS keâeÙe& kesâ Ûe›eâ 
 (b) Maximum fluctuation of energy 

  Tpee& kesâ DeefOekeâlece Gleej–ÛeÌ{eJe 
 (c) Coefficient of fluctuation of speed 

  ieefle kesâ Gleej–ÛeÌ{eJe kesâ iegCeebkeâ 
 (d) Fluctuation of energy/Tpee& kesâ Gleej–ÛeÌ{eJe 
Ans : (c) ieefle kesâ DeefOekeâlece Gleej ÛeÌ{eJe Deewj ceeOÙe ieefle kesâ 
Devegheele keâes ieefle ceW Gleej ÛeÌ{eJe kesâ iegCeebkeâ kesâ ™he ceW peevee 
peelee nw~ 

140. 7.8 mm size of tapping drill can be used to 
obtain which of the following tap size? 

 7.8 mm Deekeâej keâer šwefhebie ef[^ue keâe GheÙeesie 
efvecveefueefKele ceW mes keâewve mee šwhe Deekeâej Øeehle keâjves kesâ 
efueS efkeâÙee pee mekeâlee nw? 

 (a) M10 × 1.5 (b) M8 × 1.25 
 (c) M10 × 1.25 (d) M9 × 1.25 
Ans : (d) T.D.S = 7.8 mm 

 T.S = ? 

 T.D.S. T.S. 2d    
 7.8 = T.S. – 2d  Note– d → .61P  

    peneB P → efheÛe nw~ 
 T.S. = 7.8 + 2 × 0.61 × 1.25 

 T.S. = 9.325 

Dele:  T.S. M9 1.25= ×  
141. In which of the following engines intake and 

exhaust valves are mounted on cylinder head? 

 efvecveefueefKele ceW mes efkeâme Fbpeve ceW Fvešskeâ Deewj Sipee@mš 
JeeuJe keâes efmeueW[j ns[ ceW ueieeÙee peelee nw? 

 (a) I-head/I-ns[ (b) F-head/F-ns[ 
 (c) L-head/L-ns[ (d) T-head/T-ns[ 
Ans : (a) I ns[ keâer Fbpeve ceW Fvešskeâ Deewj Sipee@mš JeeuJe kesâ 
efmeueW[j ns[ ceW ueieeÙee peelee nw~ 
142. Liners made of ................ is needed in cylinder 

block made of aluminium. 

 SuÙetceerefveÙece mes yeves efmeueW[j yuee@keâ ceW ............ mes yeves 
ueeFvejeW keâer DeeJeMÙekeâlee nesleer nw~ 

 (a) Cast iron/{ueJeeb ueesns 
 (b) Brass/heerleue 
 (c) Forged steel/heâesp[& mšerue 
 (d) Aluminium/SuÙetceerefveÙece 
Ans : (a) SuÙetefceefveÙece mes yeves efmeueW[j yueekeâ ceW {@ueJee ueesns mes 
yeves ueeFvejeW keâer DeeJeMÙekeâlee nesleer nw~ 
143. Choose correct statement about micrometer : 

 ceeF›eâesceeršj kesâ efueS mener keâLeve ÛegveW~ 
 (a) Applied force is uniform and maximum 

  Deejesefhele yeue Skeâ meceeve Deewj DeefOekeâlece neslee nw 
 (b) Barrel is moving part of frame 

  yewjue, øesâce keâer ieefleMeerue Yeeie nw 
 (c) Reading errors increase due to satin cream 

finish/meešve ›eâerce efheâefveMe keâer Jepen mes hee"ve $egefšÙeeB 
(jeref[bie Sjj) yeÌ{ peeleer nw 

 (d) Plastic insulated grip is used in its frame 

  Fmekesâ øesâce ceW hueeefmškeâ Fbmeguesšs[ ef«ehe keâe GheÙeesie 
efkeâÙee peelee nw 

Ans : (d) ceeF›eâesceeršj Skeâ met#ceceeheer Ùeb$e nw efpemekesâ Éeje efkeâmeer 
pee@ye keâes ceerefš^keâ ØeCeeueer ceW 0.01 mm leLee efyeÇefšMe ØeCeeueer ceW 
0.001 FbÛe Ùee Fmemes Yeer DeefOekeâ met#celee ceW ceehee pee mekeâlee nw~ 
� ceeF›eâesceeršj kesâ øesâce ceW hueeefmškeâ Fbmeguesšs[ ef«ehe keâe GheÙeesie 

efkeâÙee peelee nw~ 
� ceeF›eâesceeršj m›etâ Je veš kesâ efmeæeble hej keâeÙe& keâjlee nw~ 
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144. The noise produced in the cylinder of a diesel 
engine during combustion, usually when the 
ignition quality of fuel oil is low is called : 

 ØeeÙe: FËOeve lesue keâer ØepJeueve iegCeJeòee efvecve nesves hej, 
onve kesâ oewjeve [erpeue Fbpeve kesâ efmeueW[j ceW GlheVe Meesj 
keâes keâne peelee nw 

 (a) Fuel thrust/heäÙetue LeÇmš 

 (b) Fuel knock/heäÙetue vee@keâ 
 (c) Fuel exhaust/heäÙetue SkeämueesMeve 
 (d) Fuel burst/heäÙetue yemš& 
Ans : (b) ØeeÙe: FËOeve lesue keâer ØepJeueve iegCeJeòee efvecve nesves hej 
onve kesâ oewjeve [erpeue FbpeveeW kesâ efmeueW[j ceW GlheVe Meesj keâes heäÙetue 
vee@keâ keâne peelee nw~ 
145. Amount of sulphur in fuel having rating of 48 

cetene number :   

 meeršsve ›eâceebkeâ 48 keâer jsefšbie Jeeues FËOeve ceW, meuheâj keâer 
cee$ee .............. nesleer nw 

 (a) 0.25% (Delhi/efouueer) 
 (b) 0.5% (Delhi/efouueer) 
 (c) 0.25% (Whole country/hetjs osMe ceW) 
 (d) 0.05% (Whole country/hetjs osMe ceW) 
Ans : (c) meeršsve ›eâceebkeâ 48 keâer jsefšbie Jeeues FËOeve ceW meuheâj keâer 
cee$ee 0.25% (hetjs osMe ceW) nesleer nw~ 
� [erpeue Fbpeve kesâ meeLe Skeâ JÙegl›eâce Deekeäšsve jsefšbie keâer 

DeeJeMÙekeâlee nesleer nw efpemes efmešsve vecyej keâne peelee nw~ 
146. Frequent or rhythmic changes of speed due to 

excessive control by the governor is called as : 

 ieJeve&j Éeje Deefle–efveÙeb$eCe kesâ keâejCe ieefle kesâ yeej–
yeej Ùee ueÙeyeæ ™he mes nesves Jeeues heefjJele&veeW keâes keâne 
peelee nw : 

 (a) Hunting/nbefšbie 
 (b) Sensitivity/mebJesoveMeeruelee 
 (c) Stability/efmLejlee 
 (d) Overrun/DeesJejjve 
Ans : (a) ieJeve&j Éeje Deefle efveÙeb$eCe kesâ keâejCe nesves Jeeues heefjJele&veeW 
keâes nefšbie keâne peelee nw~ 
� ieJeve&j Fbpeve keâer ceOÙece ieefle (meanspeed) keâes yeveeÙes jKelee 

nw peye Gme load keâes change efkeâÙee peelee nw~ 
� ieJeve&j ceW Arm, link mueerJe Deeefo Fmekesâ Yeeie nesles nQ~ 
147. In engine management system, device which 

converts physical or other variable into 
electrical variable is known as : 

 Fbpeve ØeyebOeve ØeCeeueer ceW, Yeeweflekeâ Ùee DevÙe ÛejeW keâes 
efJeÅegleerÙe Ûej ceW heefjJeefle&le keâjves Jeeues GhekeâjCe keâes 
keâne peelee nw : 

 (a) Transducer/š^ebme[dÙetmej (b) Actuator/SkeäÛegSšj 
 (c) Converter/keâvJeš&j (d) Sensor/meWmej 
Ans : (d) Fbpeve ØeyebOeve ØeCeeueer ceW, Yeeweflekeâ Ùee DevÙe ÛejeW keâes 
efJeÅegleerÙe Ûej ceW heefjJeefle&le keâjves Jeeues GhekeâjCe keâes meWmej keâne peelee nw~ 
� mesvmej Skeâ Ssmee Device nw pees efkeâmeer Yeer object keâes sense 

keâjkesâ switching keâjlee nw Ùee No, NC yeveelee nw~ 

148. Correct order for 4-stroke cycle engine : 

 4–mš^eskeâ meeFkeâue Fbpeve kesâ efueS mener ›eâce nw : 
 (a) Suction, exhaust, compression, power 

  Ûet<eCe, efvekeâeme, mebheer[ve, Meefòeâ 
 (b) Suction, power, exhaust, compression 
  Ûet<eCe, Meefòeâ, efvekeâeme, mebheer[ve 
 (c) Suction, compression, power, exhaust 
  Ûet<eCe, mebheer[ve, Meefòeâ, efvekeâeme 
 (d) Suction, power, compression, exhaust 
  Ûet<eCe, Meefòeâ, mebheer[ve, efvekeâeme 
Ans : (c) 4-mš^eskeâ hesš^esue Fbpeve ceW Ûet<eCe, mebheer[ve, heeJej leLee 
efvekeâeme mš^eskeâ Skeâ ›eâce (sequence) ceW nesles nQ Gmeer Øekeâej [erpeue 
Fbpeve ceW Yeer ÛeejeW mš^eskeâ Skeâ ›eâce ceW nesles nQ~ 
� Ûeej mš^eskeâ [erpeue Ûe›eâ Fbpeve keâe mewæebeflekeâ JeeuJe efveÙeceve 

DeejsKe Yeer hesš^esue Fbpeve kesâ meceeve ner neslee nw~ uesefkeâve FmeceW 
efJeÅegle mheeke&â kesâ mLeeve hej FËOeve keâe Devle: Øes#eCe efkeâÙee 
peelee nw~ 

149. Injector of diesel engine : 

 [erpeue Fbpeve keâe Fbpeskeäšj, ................. 
 (a) Inject coolant in cylinder jacket 

  efmeueW[j pewkesâš ceW ketâueWš Fbpeskeäš keâjlee nw 
 (b) Inject lubricant in cylinder 

  efmeueW[j ceW mvesnkeâ (uegyeÇerkeWâš) Fbpeskeäš keâjlee nw 
 (c) Inject lubricant in bearing 
  efyeÙeefjbie ceW mvesnkeâ (uegyeÇerkeWâš) Fbpeskeäš keâjlee nw 
 (d) Inject fuel in cylinder 
  efmeueW[j ceW FËOeve Fbpeskeäš keâjlee nw 
Ans : (d) [erpeue Fbpeve keâe Fbpeskeäšj efmeuesC[j ceW FËOeve Fbpeskeäš 
keâjlee nw~ 
� [erpeue Fbpeve ceW mekeäMeve mš^eskeâ ceW kesâJeue meeheâ nJee efmeuesC[j ceW 

Deeleer nw efpemes mebheer[ve mš^eskeâ ceW oyeeves mes nJee keâe leehe Je oeye 
oesveeW yeÌ{ peelee nw~ Gmeer meceÙe Fbpeskeäšj Éeje keâcyeMeve Ûewcyej ceW 
[erpeue keâe Dee@šesceeFpesMeve keâeÙe& ceW mØes efkeâÙee peelee nw~ 

150. Most common gauge provided on dashboard of 
passenger car which shows the speed vehicle is 
known as : 

 Ùee$eer keâej kesâ [wMeyees[& hej ØeÙegòeâ meJee&efOekeâ Deece iespe, 
pees Jeenve keâer ieefle keâes oMee&lee nw, keâes ............. kesâ ™he 
ceW peevee peelee nw~ 

 (a) Odometer/Dees[esceeršj 
 (b) Speedometer/mheer[esceeršj 
 (c) Thermometer/Lecee&ceeršj 
 (d) Tachometer/šwkeâesceeršj 
Ans : (b) Ùee$eer keâej kesâ [wMeyees[& hej ØeÙegòeâ meJee&efOekeâ Deece iespe pees 
Jeenve keâer ieefle keâes oMee&lee nw keâes mheer[esceeršj kesâ ™he ceW peevee peelee nw~ 
� mheer[esceeršj Jes Ùeb$e nw pees ceesšj ieeefÌ[Ùees ceW ueies jnles nQ Gvekeâe 

Jesie efkeâueesceeršj Øeefle IeCše Ùee ceerue/IeCše ceW yeleeles nw~ 
151. Choose incorrect option regarding magneto 

ignition : 

 ÛegbyekeâerÙe ØeppeJeueve (cewivesšes FefiveMeve) kesâ mebyebOe ceW 
ieuele efJekeâuhe keâe ÛeÙeve keâjW 

 (a) These type of ignition system takes less 
space/Fme lejn keâer FefiveMeve ØeCeeefueÙeeB keâce peien 
Iesjleer nQ 
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 (b) Necessary current is developed by magnet for 

primary circuit/ØeeLeefcekeâ heefjheLe kesâ efueS DeeJeMÙekeâ 
Oeeje Ûegcyekeâ Éeje Glheveve keâer peeleer nw 

 (c) Battery is not required for these type of 

ignition system/Fme lejn keâer FefiveMeve ØeCeeefueÙeeW kesâ 
efueS yewšjer keâer pe™jle veneR nesleer nw 

 (d) These type of ignition systems are best for 

cars/Fme lejn keâer FefiveMeve ØeCeeefueÙeeB keâejeW kesâ efueS 
meJeexòece nesleer nw 

Ans : (d) ÛegcyekeâerÙe ØepJeueve ØeCeeefueÙeeB keâejeW kesâ efueS meJeexòece veneR 
nesleer nw~ 
� cewivesšes FefiveMeve ØeCeeefueÙeeB keâce peien Iesjleer nw~ 
� ØeeLeefcekeâ heefjheLe kesâ efueS DeeJeMÙekeâ Oeeje Ûegcyekeâ Éeje GlheVe 

keâer peeleer nw~ 
� Fme lejn keâer FefiveMeve ØeCeeefueÙeeW kesâ efueS yewšjer keâer pe™jle veneR 

nesleer nw~ 

152. Which of the following camshaft mechanism is 

used when crankshaft and camshaft are nearer 

to each other? 

 ›eQâkeâMeeheäš Deewj kewâceMeeheäš kesâ Skeâ otmejs mes vepeoerkeâ 
nesves hej efvecveefueefKele ceW mes efkeâme kewâceMeeheäš [^eFJe 
cewkesâefvepce keâe ØeÙeesie efkeâÙee peelee nw~ 

 (a) Chain drive/Ûesve [^eFJe 
 (b) Gear drive/efieÙej [^eFJe 
 (c) Belt drive/yesuš [^eFJe 
 (d) Sprocket drive/mØee@kesâš [^eFJe 

Ans : (b) ›eQâkeâMeeheäš Deewj kewâceMeeheäš Deewj Skeâ otmejs kesâ yengle 
vepeoerkeâ nesves hej efieÙej [^eFJe keâe ØeÙeesie efkeâÙee peelee nw~ 
� efieÙej [^eFJe kesâ Éeje hee@Jej š^ebmeefceMeve efkeâÙee peelee nw~ 
� efieÙej [^eFJe Skeâ Ùeebef$ekeâ GhekeâjCe nw efpevekeâe keâeÙe& IetCe&ve Meeheäš 

keâer ieefle keâes yeouevee neslee nw~ 

153. Choose the correct option regarding highest 

hot hardness of cutting tool? 

 keâle&ve GhekeâjCe (keâefšbie štue) keâer GÛÛelece iece& keâ"esjlee 
(ne@š ne[&vesme) kesâ efueS mener efJekeâuhe ÛegveW~ 

 (a) Carbon tool steel/keâeye&ve štue mšerue 
 (b) Ceramic/efmejsefcekeâ 
 (c) High speed steel 

  GÛÛe ieefle mšerue (neF& mheer[ mšerue) 
 (d) Cast alloy/keâemš Deuee@Ùe 

Ans : (b) keâefšbie štue keâer GÛÛelece ne@š ne[&vesme kesâ efueS efmejsefcekeâ 
keâe ØeÙeesie efkeâÙee peelee nw~ 
� keâefšbie štue kesâ efueS GÛÛe keâeye&ve mšerue efmejsefcekeâ nerjs Deeefo keâe 

GheÙeesie Oeeleg keâle&ve kesâ efueS neslee nw~  
� ne@š ne[&vesme keâe leelheÙe& nw efkeâ keâešves Jeeues GhekeâjCe keâer 

keâ"esjlee Deewj meeceLÙe& keâes TBÛes leeheceeve hej yeveeÙes jKevee~ 

154.  

 
 Chisel is shown in figure is : 

 efoKeeS ieS efÛe$e ceW ØeoefMe&le Úsveer Skeâ ............. nw~ 
 (a) Bevel edge chisel/yesJesue Spe Úsveer 
 (b) Mortise chisel/cee@efš&me Úsveer 
 (c) Pairing chisel/Ùegiceve Úsveer (hesÙeefjbie efÛemesue) 
 (d) Corner chisel/keâe@ve&j efÛemesue 

Ans : (a) Ûeerpeue Skeâ Øekeâej keâe keâefšbie štue nw efpemekeâe GheÙeesie 
efheâšj Éeje efÛeefhebie leLee keâefšbie DeehejsMeve kesâ efueS efkeâÙee peelee nw~ 
� Meer<e&, yee@[er (Body), keâle&ve Oeej (Point cutting edge) 

Ûeerpeue Deeefo Ûeerpeue kesâ Types nesles nQ~ 
� Jesye Ûeerpeue keâe GheÙeesie chain ef[^efuebie kesâ heMÛeele OeelegDeeW keâes 

Deueie keâjves kesâ efueS efkeâÙee peelee nw~ 
155. During non working strokes cycle : 

 iewj–keâeÙe& mš^eskeâ Ûe›eâeW kesâ oewjeve, ....................~ 
 (a) Connecting rod operates engine 

  keâvesefkeäšbie je@[, Fbpeve keâes mebÛeeefuele keâjleer nw 
 (b) Crankshaft operates engine 

  ›eQâkeâMeeheäš, Fbpeve keâes mebÛeeefuele keâjlee nw 
 (c) Piston operates engine 

  efhemšve, Fbpeve keâes mebÛeeefuele keâjlee nw 
 (d) Flywheel operates engine 

  heäueeF&Jnerue, Fbpeve keâes mebÛeeefuele keâjlee nw 
Ans : (d) iewj keâeÙe& mš^eskeâ Ûe›eâeW kesâ oewjeve heäueeF&Jnerue Fbpeve keâes 
mebÛeeefuele keâjlee nw~ 
� heäueeF&Jnerue Skeâ IetCe&ve keâjves Jeeuee heefnÙeeB nw efpemekeâe GheÙeesie 

Deveskeâ Ùeb$eeW ceW efkeâÙee peelee nw~ Ietceles ngS Fme Ûe›eâ ceW IetCe&ve keâer 
ieeflepe Tpee& meb«eefnle nesleer nw~ 

156. For measuring any sample by using 

micrometer, you will take : 

 ceeF›eâesceeršj keâe GheÙeesie keâjkesâ efkeâmeer vecetves keâe ceeheve 
keâjves kesâ efueS, Deehe ................. ueWies~ 

 (a) 0.1 mm as least count 

  Deuheleceebkeâ kesâ ™he ceW 0.1 mm 

 (b) 0.02 mm as least count 

  Deuheleceebkeâ kesâ ™he ceW 0.02 mm 
 (c) 0.01 mm as least count 

  Deuheleceebkeâ kesâ ™he ceW 0.01 mm 
 (d) 0.2 mm as least count 

  Deuheleceebkeâ kesâ ™he ceW 0.2 mm 
Ans : (c) ceeF›eâesceeršj Skeâ met#ceceeheer Ùeb$e nw efpemekesâ Éeje efkeâmeer 
pee@ye keâes ceerefš^keâ ØeCeeueer ceW 0.01 mm leLee efyeÇefšMe ØeCeeueer ceW 
0.001 FbÛe met#celee ceW ceehee pee mekeâlee nw~ 
� ceeF›eâesceeršj keâe DeeefJe<keâej peerve heeuecej 1848 F&. efkeâÙee Lee~ 
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157. Valve opens, when cam lobe lifts : 
 JeeuJe leye Keguelee nw, peye kewâce ueesye ................ keâes 

G"elee nw~ 
 (a) Bearing/efyeÙeefjbie 
 (b) Piston/efhemšve 
 (c) Valve lifter/JeeuJe efueheäšj 
 (d) Valve seat/JeeuJe meerš 
Ans : (c) JeeuJe leye Keguelee nw peye kewâce ueesye JeeuJe efueheäšj keâes 
G"elee nw~ 
158. The preventive schedule of an engine which is 

checked after every 1500 hours of used is called : 
 efpeme Fbpeve keâer ØelÙeskeâ 1500 Iebšs kesâ GheÙeesie kesâ yeeo 

peeBÛe keâer peeleer nw, Gmekeâer efveJeejkeâ jKejKeeJe DevegmetÛeer 
keâes keâne peelee nw : 

 (a) Series A/ßesCeer A (b) Series C/ßesCeer C 

 (c) Series D/ßesCeer D (d) Series B/ßesCeer B 
Ans : (b) efpeme Fbpeve keâer ØelÙeskeâ 1500 IeCšs kesâ GheÙeesie kesâ yeeo 
peeBÛe keâer peeleer nw Gmekeâer efveJeejkeâ SJeb jKe jKeeJe DevegmetÛeer keâes ßesCeer 
C keâne peelee nw~ 
� Fbpeve kesâ efJeefYeVe YeeieeW keâes Ûeskeâ keâjvee, Keesuekeâj meeheâ keâjvee, 

meceeÙeesefpele keâjvee, efjhesÙej keâjvee leLee yeouevee efpememes Fbpeve 
megÛee™ ™he mes keâeÙe& keâj mekesâ Fbpeve šdÙetefvebie keânueelee nw~ 

159. Charge indicator on panel does not show when 
engine is running, it can probably due to – 

 hewveue hej ceewpeto Ûeepe& Fbef[kesâšj Ùen veneR efoKeelee nw efkeâ 
keâye Fbpeve Ûeue jne nw, Ùen mebYeJele: efvecveefueefKele keâer 
Jepen mes neslee nw : 

 (a) Open circuit in stator binding 
  mšsšj JeeFbef[bie ceW KegueeheLeve (Deesheve meefke&âš) 

 (b) Dynamo is set high voltage 

  [eÙeveeceeW GÛÛe Jeesušspe hej mesš nw 
 (c) Current regulator is set at very low 

  Oeeje efveÙeecekeâ (keâjWš jsieguesšj) DelÙeble efvecve hej mesš nw 
 (d) Dynamo is set at low voltage 
  [eÙeveceeW efvecve Jeesušspe hej mesš nw 
Ans : (a) hewveue hej ceewpeto Ûeepe& Fbef[kesâšj Ùen veneR efoKeelee nw efkeâ 
keâye Fbpeve Ûeue jne nw Fmekeâe cegKÙe keâejCe mšsšj JeeFef[bie ceW Deesheve 
meefke&âš nw~ 
160. When two dissimilar resistances are joined in 

parallel then? 
 peye oes Demeceeve ØeeflejesOe meceeveeblej ›eâce ceW pegÌ[s nesles nQ 

lees ............... 
 (a) Voltage is different between terminal of each 

resistance/ØelÙeskeâ ØeeflejesOe kesâ šefce&veueeW kesâ yeerÛe 
Jeesušspe efYeVe neslee nw 

 (b) Resistance having high value will show high 
current/GÛÛe ceeve Jeeuee ØeeflejesOe GÛÛe Oeeje ØeoefMe&le 
keâjsiee 

 (c) Current flow in each resistance is same 

  ØelÙeskeâ ØeeflejesOe ceW ØeJeeefnle Oeeje meceeve nesleer nw 
 (d) Current flow in each resistance is different 

  ØelÙeskeâ ØeeflejesOe ceW ØeJeeefnle Oeeje efYeVe nesleer nw 
Ans : (d) peye oes Demeceeve ØeeflejesOe meceevlej ›eâce ceW pegÌ[s nesles nQ lees 
ØelÙeskeâ ØeeflejesOe ceW ØeJeeefnle Oeeje efYeVe nesleer nw~ 

� efkeâmeer ØeeflejesOe kesâ efmejeW kesâ yeerÛe efJeYeJeevlej leLee Gmemes ØeJeeefnle 
Oeeje kesâ Devegheele keâes Gmekeâe ØeeflejesOe keânles nQ 

� R V / I=   
161. Which of the following statement regarding 

additives is incorrect? 
 SefmeefšJme kesâ yeejs ceW efvecveefueefKele ceW mes keâewve mee keâLeve 

DemelÙe nw? 
 (a) Oxidizing inhibitors are used to prevent the 

oxidation of lubricants/mvesnkeâ keâe Dee@keämeerkeâjCe 
jeskeâves kesâ efueS Dee@keämeerkeâjCe efvejesOekeâeW keâe GheÙeesie efkeâÙee 
peelee nw 

 (b) Detergent depressor is used to remove & to 
loose the deposits caused by dirt/ieboieer keâer Jepen 
mes ngS peceeJe keâes {eruee keâjves Deewj nševes kesâ efueS 
ef[špeXš ef[Øesmej keâe GheÙeesie efkeâÙee peelee nw 

 (c) Antioxidants are used to prevent forming of 
oil/lesue keâe Peeie yeveves (heâesefcebie) mes jeskeâves kesâ efueS 
pebiejesOekeâeW keâe GheÙeesie efkeâÙee peelee nw 

 (d) Pour point depressors are used to lower the 
temperature at which oil becomes too thick 
too flow/yeneJe efyebog DeJevecekeâ (heesj hee@Fbš ef[Øesmej) 
keâe GheÙeesie Gme leehe keâe keâce keâjves kesâ efueS efkeâÙee 
peelee nw, efpeme hej lesue yenves kesâ efnmeeye mes DelÙeefOekeâ 
ieeÌ{e nes peelee nw~ 

Ans : (c) Sef[efšJme lesue keâe Peeie yeveeves mes jeskeâves kesâ efueS 
pebiejesOekeâ keâe GheÙeesie efkeâÙee peelee nw, Ùen keâLeve ieuele nw~ 
� mvesnkeâ keâe DeekeämeerkeâjCe jeskeâves kesâ efueS Dee@keämeerpeve efvejesOekeâeW 

keâe GheÙeesie efkeâÙee peelee nw~ 
� ieboieer keâer Jepen mes ngS peceeJe keâes {eruee keâjves Deewj nševes kesâ 

efueS ef[špeXš ef[Øesmej keâe GheÙeesie efkeâÙee peelee nw~ 
� Sef[efšJe kesâ efueS yeneJe efyevog DeJevecekeâ keâe GheÙeesie Gme leehe mes 

DelÙeefOekeâ ieeÌ{e nes peelee nw~ 
162. Connecting rod is made of : 

 keâvesefkeäšbie je@[ ............... mes yeves nesles nQ~ 
 (a) Forged steel/heâesp[& mšerue 
 (b) Mild steel/vece& Fmheele 
 (c) Copper/leebyee 
 (d) Aluminium alloy/SuÙetceerefveÙece keâer efceße Oeeleg 
Ans : (a) Ùen efhemšve keâes iepeve efheve Éeje ›eQâkeâ Mee@heäš efheve mes 

peesÌ[leer nw leeefkeâ efhemšve hej Øeehle nesves Jeeueer Meefòeâ keâes ›eQâkeâ 
Mee@heäš lekeâ hengBÛeeÙee pee mekesâ~ 

• Fmekeâe Jepeve nukeâe jKeves kesâ efueS I-meskeäMeve keâer yeveeF& 
peeleer nw~ 

keâvesefkeäšbie je@[ kesâ keâeÙe&– 
• efhemšve hej DeeF& heeJej keâes ›eQâkeâ Mee@heäš lekeâ hengBÛeevee~ 
• keâvewefkeäšbie je@[ Éeje ner jsmeerØeeskesâefšbie ceesMeve ceW yeouee peelee nw~ 
163. Which of the following exhaust system 

components convert harmful carbon mono 

oxide & hydro carbons into CO2 & water 

vapour?  

 efvecveefueefKele ceW mes keâewve mee efvekeâeme (Sipee@mš) ØeCeeueer 
Ieškeâ neefvekeâejkeâ keâeye&ve ceesveesDee@keämeeF[ Deewj 
neF[^eskeâeye&ve keâes CO2 Deewj peue Jee<he ceW heefjJeefle&le 
keâjlee nw? 

                           30 / 400


